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"Today We Have Naming of Parts. . . N

Before proceeding directly to the grammar, let us pause
a moment to consider the problems involved in defining word
categories. Practically the whole concern of some school gram-
marians has been with definitions of the paris of speech. Yet,
though hoth traditional and structural grammarians have spent
an inordinate amount of time getting up definitione, it is not
immediately clear that definitions of the kind they seek are
desirable or even posgible. The impossibility oi the iask can
be seen if we consider the various forms that definitions have
taken. The traditional grammarian was generally content with
definitions that were vague because he was (like the rest of us)
quite sure of what, say, a verb was., Thus he canie up with empty
and meaningless generalizations:

A verb is a word that expressges action, condition,
or state of being.

A "verb is that part of speeck by means of which we
make an agsertion or ask & question." (Curme,
English Grammar, p. 22.) |

The first definition excludes no word referring to action,
condition, or existence; words like *game!, ‘old!, and 'exist-
ence’ would qualify as verbs under th.; definition. The second
silows, emong the other things; any question word ("who. ... ?"

what... ?" etc.) to qualify as verb.

% . However, influenced by the apparent rigor of the scientific
linguistics of the *40's and '50's, some traditionalists were forced

: - into revising their definitions siightly, thus giving rise to hybrids

g of the foilowing type: :

Verbs are "words that pattern like [ the nonzense] mirizted
used in an earlier example: The floog sirily mirilated] ;

'the saying word" ...part of "'the nucleus of an English

gentznce. . .in which zane word seems to neme something

=nd the other seems to say something abowut it..."

. (L. M. Meyers, Guide to American
Epgiish, 3rd ed., p. 35.}

Here the vagueness of traditional definitions is compounded
by the vagueness of the structural approach; it ie not at all
clezr what i8 meant by "“pattern like." Does the author mean
verbs pattern like mirlated with regpect to the suffix (ed), or
with respect to their position among the cther nonsense words
of the example? If the former, on what basis do we excluiz
the learned of ''He was truly learned!' ? "

The structural grammerians reacted strongly to the semantic
vagueness of the definitions of the traditionalists., They decided
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that truly objective tests for msmbership in the parts-oi-gpeech
catagories had to be devised., These tests would ke “formal” in
that onlv statements aboulgdisls properties would be allowed,
Thua they said:

A verb in English hag the following characteristics:
1. Morphotogically it has a distinctinn between

anlinern?l al 2l mmanamd baman in dtha
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third person (write/writes) and between pre-
gent and past iwrite;’wrotei,.

2. Distributionally it fits into one or move of the
following {rames:

b. The man 8 there.
¢. The man_ 8 wise.

(W alclo E, Sweet, Latin, a Structural
Apprcach, p. 21.

But befall, which certainly satisfies the criterion in (1), does
not fit any of the frames in (2), if we apply the frames strictly
{and there is no indication but common sense that we are not

to be as "rigorous" in applying these tests as the structuralists
were in devising them). James Sledd, in one of the more rea-
gsonable structural grammairs, tried this definition:

“A verb is any word belonging to an inflectional
series which marks the difference between present

=, and past tense and whose members will fit into a
pattern like sing, ;%__,Binga_, Sapg, sung, ginging or
play, plays, playes, played, playing...

{ & Short Introduction o English Grammar,

p. 73.)

Agsain, the criteria are based exclugively on phonological and
morphological criteria: if we find forms in the language that
seem related in'the way sing-sang-gung are (this "i-a-u" change
is one kind of "inflectional series”), then they must be the dif-
ferent forms of a verb. We are not to employ "higher” linguistic
levels like semantics to tell us that certain forms which are
acceptable from the standpoint of the test are cleariy not what
we intuitively know are "verba':

i a, The man__ __ g the houssa,

ding / dang / dung

mey, maize, made, maid, maying (a8 in “"we'll no
more go &a-")

Op if we accept the morphological definition of an "adjective”
as a word thal shows inflectional distinctions bstween the pos-
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itive form, the comparative form, and the superlative form,
a¢ in big, bigger, biggest (Sweet, 21), on what basis wiil lad,
ladder, latticed or tear, terror, terraced be excluded?

We will continue to find, as we inspact, one siter ancther,
: the ¢raditional and structural definitions, that in cae way or another
they fail; for they wiil satisfy only insofar a2 we the speakers of
English are able to bridge the gap between the definition and the
category being defined. In cther words, an English speaker’ 3
acceptance of the structural defizitions depends upon his ability
to reject such possibilities (as "'ding’ / dang / dung" and “may,
maize, made, maid, etz.'J, where the forms axre literally
acceptable by the definition but not acceptable to the intuition
of & native spezker of the language. I is the iutuition, not the
rule, whicz makes the distinction. In an analogous fashion a
traditicnal grammar (that is, a good traditional grammar) such
as ihose of Ralph B, Long, Jespersen, Curme, eic.) becomes
‘ an adequate grammar of English (one which explains ail the
" sentences of the language} only by virtue of the wéaderis or user's
) intg}i’ mee, When the grammar does not fully explain the way in
w c'g the language operates, the user must bridge the gapn.

Transformational grammar tries to take the intelligent
reader or user out of the grammar: it sets up a grammar of
a purely mechanical kind, thus allowing the speaker of English
to stand complately outside his language and to see exacily how
it works, down'to very deep levels. X is this goal which avoids
setting up definitions that then depend on the intelligence of the reader
for their implementation., To show the difference in the way
8 the verbs of English behave, consider the following sentences:

(1) The house is large.

(2) The house secems large,

(2} The house has a sound roof,

(4) The house stands there.

(5) The house struck the tree.

The verbs in these sentences are examples of the five main sub-
; gets of the English verb, In (1), the verb will have to go to the
front of the sentence to form 8 yes ~or-no question:

(1) The house is large.
is the house large?

But in others, the question will be formed by taking ti:e tense and/
or agreement away from the main verb and attaching these ele-
mants to "'do'’ placed before the subiect:

(2) The house seems large.
Does the houge seem jaxrge?
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(3) The house has a scund roof., (For some peopie,
Does the house have a sound roof ? Has the house a
gsound roof ? is pos-~
(4) The bouse stands there. sible)

Does the houge stand there?

(5) The house strick the iree.
Did the house sirike e tree?

In sentences similar to (1) and (2), if the predicate contains a noun,
it must agree in number with the subject. of the qezstence:

{6) The man is a salesman. {(not: The man are saiesmen)
(6') The men are salesmen, (not: The men are a salesman)
(7) He seemed a teacher of the highest quality.

{7') They seemed teachers of the highest quality.

This is not true of sentences like (3) and {5): The house has three
chimneys; The house struck the trees. Only {4} and {5) can be
modified by a manne? adverbial, words tike quietly, hard, weakly,
ete.: . " ~ S

(4') The house stands thers majestically.

{3'}) The house stmck-the.tree-forcgmﬁx. e
Thus,  in 2 number offormnilways, the words that we want 1o call
"Verb" in these gentences are strikinglg.éiffef;e_m from one another.
And it is not just.singie words that are in quésiion; for in each
sentence, except (1), the vérb ig only one mémber of 2 set of
verbs: besides seem {2), there i5 appear, look, remain, stay,
turn; taste, ete.’;.besides have (3} there is cost, lack, weigh
etc. andsoon, . . -

Given the¢ genersl compiexity of language, it is probably im-
possible to establish a comprehensive and useful definition of the
notion "verb in English, ' even for the five main subsets of verbs
that occur in the preceding examples.

But we may be able to formulate cur rules so that in one of the
first genera) males a catejory "Verb' will be introduced. In
subsequent tules, this very large category (or class or set)
will be broken down into more precise verb classes (subsets),
such as Linking, Middie, Transitive, Infrangitive, and so on.
The breakdown might look like this in tree form:

See fqliowing page.
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Rules Sentence
{1} Noun Fhrase Verb Phrase
} (2 Auxiliary B rb
‘ () . - Bé \};b
‘ - . P
() 3 - Vlinking b
{9 R Vmiddie \
(10) | Vintransitive Vtransitive

Note that the large category Verb {Rule 7) breaks into subsets Be
and Vrb (all verbs other than Be whose unique characteristics
_: put it intc a separate subclass &t this poini.) Rule 8 then divides
- Vrb into subsets of Linking and Vb (all verbs left alter the linking
.‘ verbs are placed in a special group.), etc.

We will then test our rules by using them to derive sentences.

If our rules are corrgctly formulated, it will turn out that any
lexical item (2 particuiar word, like run) that we can trace back
to the symbol “Verb' will be "an English verb." The notion "verb
in English" will thus be defined by & correct formaulation of the
rules, and it will be precigely that formal definition sought by the
earlier grammerians. Al that our rules have done is to make
very clear and explicit what we felt ail along fo be trye: that 't'nere
is a type of word that we would very generally call a "verb, " but
also that there are different kinds of "verbs' --gimilar in some
ways, but different in others. By careful formulation of rules
based on the behavior of the various verb {ypes, we can capture
the sense of set and subset that we feel to exist in this area. The
same thing will take place with Noun, Adverb, and Adjective.
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GRAMMATICALITY

When the seventh grade student beging {o study grammar, he
may fiad that the routine, school, and teacher are new, but that
the subject to be studied is, in at least one respect, familiar,
Ever since he started putting sounds, word forms, and phrases

athawm +m viralra santanmnas Tan hna haan darralarninege hia Anamenan
tcgwun»‘ WO THOAT SOINnCNCUR, 110 ias Ceila MO VO AVPLIAE 3hh b CLALLIAGLE ¢

By "grammar" we mean two things: 1. thekinds of human behavior
that produce language, and 2. the grammmarian's account of that
behavior, Our seventh grader has no doubt had some experience
with what grammarians say, but he probably does not realize that
in a real sense he ig a walking grammar himself,

Various Approaches to Grammar. The teacher's task would
be simple if there were only one description and explanation of our
language that 21l could agree upon. Such is not the case, however,
and confuzion over deciding what grammar to teach may cause tea=-
chers to regard the whole subject as irrelevant. The leading con-
tenders in the grammar conflict are the traditionalists and the
structuralisis, both of whom offer fairly complete methods of
grouping facts about the English larguage while leaving much
unexplained. The teacher is coafronted with the problem of
choosing between two analyses of his students! grammar, neither
of which seems to fit very well.

Traditional grammar, modeled 2~ it is after Latin grammar,
fails to account {or the unigueness of English. It offers explanations
of distinctions thot are not made in English and frequently prescribes
a single form where there obviously is no rigid standard. Although
it does a satisfactory job of describing the language, traditional
grammar relies upon our imtuitive sense to give rationality to its
often inaccurate explanations of ianguage.

Structural grammar, a relatively new system, employs infor=-
mation brought to language study by histcorical grammarians, ficld
anthropologists, and phoneticians, Its great contribution lies in
its accurate observation of language. Definitions and rules are
derived not from: meaning or 2 sense of correctness, but from
Fhanological {sound), morpholiogical (form), and syntactical ...

structural) patterns. The structuralist®s lack of concern over
what ghould be rather than what is frees the teac” ° from having
to make moral pronouncements about language usage--a signi-
ficant advantage. However, because it fails to account for most
English sentences beyond the very simplest, the value of structural
grammar, too, is limited,

To sum up briefly, traditional grammar, although offering an
adequate description of the language, is so bound up with how English
ghould work that it fails to explain how English doeg work, Structural
grammar offers a valuable system of clasgifying information about
language but is not rigorous enough to account for most of the com~-
plexities in English,

— e NV s gy
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. The program of grammay advanced here will make use of the
sxeceliences of the two systems just mentioned, but will incorporate
m@ﬁcations_, of the ;angua?e theary set forth in Noam Chomsky's
boal Syntactic sznfﬂfz%-g - This is sometimes called transformational
grémmar, iz aitempted i8 a generative grammar diductively
derived so that a formal set of rules giving a rigorous account of
English syntax is proguced, ~ = - |

‘The Tagk of the Li‘ggg' ist. The iransformationalists conceive
Ak B e e T T _h o W S _ e 8% _ a% _ M. . _
LAl WHE gialiliiad i @ language noLl Uiy Qescrives uie language as

it ig., but also.shows how the senfences of that language are pro-
duced. T2 task of the linguist is to separate the grammatical from
the'ungramematical, by studying the structure of the grammatical
sequences, and thug to identify the grammaticality of the language--
that knowledge possessed by native speakers of a language which
enables them to preduce the sentences of the language, and to
recognize sentences they have never seen or heard. The grammar,
then, is a set of rules which can "proguce"” 21l the sentences of a
language but which will not produce any non-grammatical sequences.
In other words, it ¢xplains the relations of the various eleraents of

a grammeticdl sentence in formal terms so as to aceount for all

of the so~-called grammatical sentences of the language.

Grammar "is a complex sygtem with many and varied inter-
connections between ité parts. < How then is grammaticality
determined? Breaks with English grammar can obviously occur
in many ways. The fsllowing sentences are all ungrammatical
but they are ungrammatical for different reasons.

1, The cricket 1‘wh:i,ch bad been chirping (verb omitted)

2. Walked around the block the children (subject and verb
transposed)

3. This gencil my beast one is (verb and complement trans-
posed

4. Lincoln were a self~educated man (lack of subject-
verb agreement)

5. I down fell (misplaced modifier)

6. He presented the whole class with a meanwhile
(determiners occur only with nouns)

These sentences represent only a few of the kinds of distinctions
made by users of the language. By exploring and categorizing these
interconnections it is possible to generate a graramar.

1

8! Gravenhage: Mouton and Co., 1957.
2

Chomsky, op, cit., p. 60.
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Characieristice of a Good Grammar, To be adequate~-and usable«=-
the grammar must be simple, economical, and complete, It must, in
other words, be able to account for the various ratterns of the language
by a finite number of generalizatione which cover the infinite variety
of the sentences of tke language. Obviously it would be impossible to
analyze all the sentences of the language, which are infinite in number,

0 a =

2ut by analyziag a'finite number of uiterances, some of which are un~
grammatical, it is possible to formulate a theory of grammar for all

of the infinite number cf unobserved utterances, The r«3ulting grammar,
if it is adequate, will account for all the grammatical and not any of the

ungrammatical sequences,

Grammar Is Built In, In attempiing to convey this concept, we
should at the outset demonstrate to the student that he does have a
knowledge of the grammar of his language, and that he uses it coustantly
without even thinking abcut it, (The sentences on page 1, and Exercise
1 of the Student Version are designed to illustrate this point,) Grammar
is something built in, not learned, That is, the child acquires the grammar
as he acquires the meaningful sounds and words of the language. It is
a simultaneous srocess, This is not the same thing as learning a foreign
language where there is a lag between acruiring the sounds and under=
standing their grammatical relationships., The studemi needs to know
that when we study the grammar of English we are really only trying
to understand why we behave linguistically the way we do=- why we say
"Jane is practicing on the viélin, but don't say ''Jane the violin practicing, "
We are concerning ourselves with something which is intimately connected
with every human aspect of our lives. We are examining the quality of
our language=-~-call it grammaticality-~which produces the sentences
of that language, And we do this, as the linguists do, by looking at
sentences theinselves, not just by learning rules about them.,

“ ol

I should Le of interest to the gtudent to realize that he need not
know or examine ¢l the sentences® of the language in order to understiand
how it works, Indeed, even the linguist himself ~ould not do that, and
does not, as was pointed out earlier, Let the student realize that the
set of grammatical sentences is infinite and that the set of sentences
he uses is a subset of that infinite set, As a native speaker, his exper-
k ience with the language will enzable him to produce and {0 understand an
- indefinite number of sentences just as his knowledge of and experience
i with the theory of raultiplication enables him to produce and under-
stand an indefinite number of multiplication problems. IHe doesn' need
to work out all the possible problems in order to understand the theory,
On the basis of a limited number of rules, the student of mathematics
can describe an infinite number of individual methematical relatiorships,
Call the rules of mathematics the grammar of mathematics, Finite
in mimber, they can project the infinity of mathematic relations.
Similarly it is possible on the bases of a2 limited number of utterances

3By gsentence we mean any utterance accepted as such by the
native speakers of the language., We will attempti later to define 2 sen-
tence thirough the analysis of its parts and of its history,
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(grammatical sentences) to construct rules which prcj ect the infinity
of a language. (You may make use of Exercise 2 of the Siudent Ver-

_sion to enforce this notion.)

Grammar Doesn't Depend on Meaning. Next, it is possible to
demonstrate to the student that the grammaticality of the language
is not dependent on the semantie nature of the language. This is
not to say that semantics is unrelated o the development oi gram-
matical sentences. It is to say that it is difficult, if not imposgsible,
to construct an adeguate grammar on semauiic grounds. Every
speaker of the language would recognize that """Twas brillig, and
the slithy toves/ Did gyre and gimble in the wabe' is an English
sentence, but none could say what it means, if indeed it means
anything, It is possible to argue that "Hortense astounded the
egg’’ is ungrammatical on the grounds that it is nonsense; one
can't astound eggs. But to formulate a rule of grammar to
cover such eventualities would mean forrmulating an infinite
nurnber of rules appiyting to individual cases about which nomi-
nals can follow which verbs. Howaver, it is possible to formulate
a single general rule which weuld specify that verts like astound,
please, terrify, astonish, frighten, and surprise always take an
animate object. Thus, in the interest of economy, simplicity, and
generality (without which it is impossible {0 construct a usable
grammar) the semantic approach must be ruled out. {Bxercises
3 and 4 of the Student Version will help emphasize that the gram-~
mar doesn't depend on the meaning.)

Grammar Does Not Depend on High Order of Frequeacy. It is
also possible to domonsitrate that grammaticalily is not dependent
on the frequency with which a given sequence nccurs in the language.
It i3 possitle to imagine many sequences of words which have never
been produced before., For exampie:

1, Fat flabby parsone craftily consider their reputations.
2. Fat the parsons flabby consider their craftily reputations.

3. The cheerleader saw the long, dark, twisted, humorous,
slinky informative poster.

4., The halfback running sideways with purple blotches
clinging to the drooping ball,

It is doubtful that any of the utierances have been made before,
Yet two of them (1 and 3} are grammatical English utterances. The
other two are not. The fact they have never occurred before has
nothing to o with their gremmaticality. Similarly, we can show
the student that many utterances which have a high statistical oc~
currence, such as "She loves me not, " are still not grammatical
utterances ol English.

The awareness of some of these facis of what does and does not
constitute grammaticality in Englisk should produce in the student a
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iively interest in exploring the problem of what it iz that accounis for
the grammaticality of our langrags and lead directly to the discussion
of the first steps in constructing an adequate grammar--a knovriedge
of the kernel sentence,

EXERCISES

The exercises in this section are primsrily for the purpose of getting

the nunile to hagin to think ahot the gertence and to wonder what it ig

i r L4 b-l. W VAOOLALRE VWERFWRRY Wil W LV WEHEMN WELWI? WRLAWE YN IV WEAWVAW & VAWIY & HWSG
".'n. P N Voo R ‘ M
Sentences; Page !

The desired answers are 1, 4, 6, 7, and 11, If students disagree on
classification of some sertences {zuch as 2), you may need to remind

. them of the levels of grammaticulity discussed in the unit of Varieties
of English,

Exercise 1: Page 2 If you are using this unit in a grade beyond the
"fth you may find this exercise and the next toc easy for above average
students, The sentences produced by the students may vary, By
comparing the different answers you might call attertion to the
flexibility and restrictions of grammatical English sentences, For
example, because of subject-verb agreement restrictions, group 4
can only produce ''Spinach gives you vitamins, " but group 3 offers
several possibilities:

The new boy could not find his ciass,
His class couls unai fiad the new boy.
The boy could rot find his new class,

Ezevcise 2: Page 3

You may wish to compile the combinations suggested by the students
in oxder to show thern that a finite mumber of words may produce an
indefinite number of sentences, many of which have not previously
been spoken or written, ’ : ‘

Exercise 3: Page4  (This exercise is too hard for below average
students,) Sentences i, 2, 4, 6, and 7 are grammatical English sentences,

Exercise 4: Page 4

S dents' sentences will obviously vary, But a discussion of the question,
How do you know where to place nonserse words in a sentence?’

could make them aware that nonsense words resemble English woxds

in form {with todded used as & verb, quinful an adjective, ete) and that

they follow the normal word crder of English sentences,

Exercise 5: Page 5
these groups have some meaning, but only 6 and 7 are also grammatical
English sentences, (Some students may consider 8 grammatical,
¥You may wish to ask them to explain under what circumstances it would
be grammatical, )

Studeuts will not ail agree on which sentences are grammatical English
sentences, Some, such as 2, 3, and 5, are wrong in any situation;
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others (8) depend on context. You might ask students to explain what

is wrong with the ones they mark ungrammatical, For a helpful review
students could also explain what is wrong with the nongrammatical
Sentences on page 1, They should ¢atch obvious errors, such as the
faulty word order in 2, 8, and 10 on page 1; and the incorrect word forms,
such a8 quietly with the determiner a in 12, and these memory in 18,

etc, A look at 6 as grammatical comypared with 5 as nongrammatical
might also reinforce the notion of grammaticality, It is important

| S dnssunndd o temsnd Alhasa oesmenemcam A A2 2 e ® B e o A _ B
5ot ¢C he dogioatic ALOUL thoST aisWers, At thin poimt we are t

' :'?11 arouse curiosity about the language, not come up with herd and fast
es., . . .
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(2) Five is not an even number,
(3) Five is an even number.

Most speakors of English (provided, of course, they know the
arithmetic meanings of *even' and ‘uneven') respond to {3)
immediately, but (1) and (2) make them uneasy. They are
familiar with this kind of foolery from their school examination
days. But harassed into giving an answer, they would probably
proceed to the correct solution by first finding the truth values

of the positive statements underlying (1) and (2) and then negating
wese. That iz, ‘Five is an sven number?® is faise; therefore,
'Five is nct an even number! is true,

In this case, where the user of the 1~nguage is not only asked
to understand a sentence, but is also requested to give a further
answer on the basis of his understanding, the process by which
he proceeds to the answer is often laid bare; but even though it
is not often that we see the process so clearly, it seems likely
that the understanding of any sentence takes place in somewhat
the same fasion; that is, a person receives the senience, codes
it back into a basic sentence plus a nrmber of transformational
changes: for example,

(4) Was he hit by the truck?

(5) The truck hit hima + passive + yes or no qusstion,
(He was 2t by the truck.)
Was he hit by the truck?)

Much =f the grammar that follows is built on the distinction
between kernel (or basic) seniences and transformed (or derived)
sentences. Therefore it is of prime importance that you have this
basic distinction in mind. A kernel sentence can be defined most
easily as a gimple active declarative sentence {using that term in
its usual grammatical sense), completely without adjectival modi-
fication (exce)pt in the predicate adjective follpwing Be and thoenl
linking verbs), without compound subjects or cbiects, etc. y
in the Verb Phrase of the kernel sentence will tﬁere be any com-
plexity--running from one extreme in ""He should have been going. .. "
to the other in "He goes...." In particular, no sentence is a
kernel if it can itself be derived from a simpler sentence or
sentences. The kernel sentence is the lowest common denominator

of sentencehood in English. The following sentences are kernel
sentences:

E
«12-
o ANGTEIBE CIITEINSE
True or false?
(1) Five is not an uneven number. #

(6) The train hit the blockade.
(7) The girl is tall,
(8) The teacher should have been giving the exam.

#In this and the following units, example sentences are numbered
in order to make cross reference easier.




(9) Birds sing.
(10) Man seems inhuinan.

The following are not karnels for the rcazons stated after each
example:

(11) The teil boy is angry. [ Contains an adjective,
cther then the predicate adjective; the result of |
embedding "The boy is tall.” in "The boy is angry.''}

(12) The tree was hit by the autoiobile, [ is g passive;
derived from" The autsmobile hit ¢he tree.'

{13) Was the man young? [ Is a guestion, nct a declara-
tive sentence; derived from ‘The man was young. |

(14) The man and womsn ran away. | Containe 2 compound
aubject; the product of "The man ran away.” and "The
WOman ran away.

(15} The boy won't talk tonight, | is a negative; derived
from the positive "The boy will talk tonight. "]

Actually at some point what goes into the kernel or i3 excluded
from it bacomes a matisr of some theoretical concern. For ezample,
gsome grammarians have argned that both {15) and ite positive form
are kernels. They say that the negative, like various parts of the
auxiliary, can be optionally sresent in any kernel sentence. Others
undersiand negation to be the resuli of a transformstion. The latter
position is supported by the discussion that opened this section.
Generalizing {rom thai discussion, we can say that speakers of
English have an easieir time remembering exactly and commenting
on the truth value of kernel sentences. This ie not go easily dons
with derived sentences, even those of the very simplest kind, and
it seems to be easier to remember positive than negative setences.

The kernel sentences are then the simple, decliarative
gentences of the language. There is probably a finite mimber of
kernel types. The remaining gentences of the language are formed
from the kernels through simple and/or complex transformations.
Whether or not a sentence i3 a kernel or transformsed sentence is
not a statisticzl matter; that is, the problem is not one of counting
the sentences of the language, We can, however, make this import-
ant obgervation: it is the transformed sentences and not the kernels
that are the real-life utterances of any la ge. On every level,
even in the very youngest school child, ~03igentences used in day~
to-day living are derived (sometimee in very complex waye) from
kernmel sentences. Nevertheless there is aiways beneath every
transformed sentence a kerael or, indeed, a number of kernel
sentences. For example,

(16) The blue house in which he lives wes knocked down
by the storm.,

is derived in the foliowing fashion:

(17) The storm knocked down the house, RB83ive,
(18) The house was knocked down by the StSfm.) ...
{19) The house was blue. f—
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(2¢) The blue house was knocked down by the stormi .__._>
(21) He lives in the house. J
{16} The blue house in which he lives was knoclked down

by the storm.

Azain it is importan: to emphasize that this analysis or
Engligh i8 not Leing proposed merely because it is a convenient
way in which toc deai with the complexities of English. The
point being mede is rather more significant than that., It is
exactly this: There is a psychological validity present in trans-
formational grammar which supports the notion that the preceding
analyses of English gentences are somehow right. A recent
experiment makes this quite ciear: the subjects were read a
series of 2ight sentences, some of them kernels and some pas-
sive transforms, negative transforms, interrogative transforms,
or combinations of these. For example, the sentences might
have been as follows:

{22) Hasn't the girl worn the jewel?

{23) The typist has copied the manuscript,

(24} The machine was bought by the company.
(25) Hasn’t 2 secretary been hired by him today?

The sentences were read at a slow but steady rate, and then the
subjects were asked to write down as many and as much of the
eight ag they could recall. A mumber of syntactic errors were
of course made in the recall process, but what is amazing ie that
there was a remerkably high incidence of mistakes that invoived
only a gingle transformational slip. Say, for example, that the
gentence in guestion was (25); this can be coded into

126} He has hired a secretary today.

(27} negative {He has not hired a secretary today. ) »

(28) passive (A secretary has not been hired by him teday. )

{28} yes or no question {Hasn't a secretary beer hired by
him today®}

The .etl;bject when asked to recall this séntence was likely to come
up wi

(30) A secretary hasn't been hired by him today.

Presumably he coded tine sentence back into the kernel but was

able to work it through only two of the three transformations.

Thus he was able to produce a senience that was one transformation
short of the original.

Consistent one-transformation misses of this sort support
the notion that kernels and transformations are more than con-
verient theoretical primes. The kernels and the transformations
are tne grammar of the language and the mind.
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to anticipate it,

(2) VP-==> Aux + Verb

| (3) Aux---> Auxj (Auxy)
(4) Auxj=«==> Tns (M)

(pres ,

(5) Tne--a-:{ 3

past )

Be + Pr
(7) Verbee=>
Vrb

‘ Vink + Pr
(8) Vrbe=s |
b

Vinid + NP?

Vv (Man) \)

(S) Vbee=>

%ollowing are the phrase structure rules which will be covered
in the seventh grade, They are algo given in the linguistic symbols
which we hope the student will become familiar with, Rulee of this
kind are known (in whatever discipline they are used) as rewrite rules:

| ’ THE GRAMMAR: PHRASE STRUCTURE RULES
Introduction
the symbol to tha lefi of the arrow, t\e arvow itself ceing interpreted

TTha avnilanadian ald® analhh aeoemmbhal and
- AW VDD IFMOAFACOVIA WA waa FEARFCIA THRIWE

its application is, of course, rore fully developed in the student version,
where the rule itself is not given until the student has been led inductively

(1) Sentence=~-> NP <+ VP

(6) Auxg---> (have + en) (be + ing)

. {Vrb_includes all verbs: except *

- Vrbeww>

- Vmiddle * Noun Phress
Vb.-ib > j

Sentence~=-> Noun Phrase +
Verb Phrae

Verb Phrage<--> Auxiliary +
Verb

Auxiliary--=> Auxiliary. (Aux-
ﬂiaryg)x?barenn
theseg indicate ap
opticnal element,)

Auxiligryy=--> Tense {Modal)

present
Tengew==>

past
{Braces {} signify that a kernel
has one but ever hoth elements.}

Auxiliaryg=-=> (havs + en}
(be + ing)

Be + Predicate ;
Vb~

Verbe=<>

Be.
Viipking + Piedicie?

Vb
[Vb indicates all verbs but Be
and linking., ] -

~

, {V (Manner adverb)

/

\ -




Vin
(10) Veau> 7
Vir ¢+ NPJ

. (ag
{11) Pre-->{ NP

(Loc)

{12} Man-=-<> Adj * ly

(13) NP-w> T + N + NO

Nent
(14) N--»> Z

Nm
Nan -
{157 Ncnt-=->
Nin
{Nhum

(Nmm

{18} Nane~->

(17) N°%--> sing inthe

context N +

(15) NOwu> sing‘} |

plur )

«lT=

. R R
? r» w «s‘? <=:\J;§“\_¢; .,:l&/’-«“'

gVintrans itive
V o . u)

kVtransaitive + Noun
Phrase
_ )

_ , jAdjec%ive
Predicate=-->{Noun Phrage
(Adwvort of Locetion)

Manvier adverb--»> Adjective ¥
ly

Noun Phrase-=2> Determiner *+
Noun *+ Number

( Countable Nouna?

Nounee«>
Masgs Nouns _}
* Animvite
Moun Countabloes«> Mouns {
7 Inanimate
\. Nmms)
Humsan Nouns
Noun Animate~=9
Nonhuman
Nouns

Nvmber of Nouns--+ singular

in the con-~
text Noun
Mass +

singulaer

Number=«=<>
plural
AN R S
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In this quite simple grammar of English the rules are for the most
part !'context<free', which means, for emmfle, that NP {noun phrase)
ia rewritten as T+ N + N° {determirer noun + rmmberf
wherever and whenevey: it appears in a string of symbole, Only (17)
ia context-sengitive: N° (number of noun} must always be singular
if it immediately follows Nm (any mass noun),

. Abstractly speaking then, a rewrite rule takes the following
orm:

L aVYeoe>XDb ¥

In other words, X, , ¥ describes a cantext and g is the ciement
rewritteri as b:  that is, Rule (3) direcis us to rewrite 'NP + Aux +
Verb! as 'NP + Auy; + Auxg + Verb, Inthis example NP = X;
Verb 2 ¥; Aux = g Auxy ¥ Auxg ® b,

The y1ies are app.ied in order as many times, . 85 are necea=
sary, If the string after the application of (10) is NP + Vir + NP,
(13) must be applied twice, once to the subject (NP) and once to the
oblect (NP}, A final or terminal string will consist entirely of sym-
bois no one of which is found to the left of an arrow, A terminal
string consists then entirely of terminal syrabols as a result of
Ruies (1) - (18). Each terminal symbol that is a lexical symbol
and not a grammatical symbol is further expanded as ouz of the
lexical items for vaich it stands, For instance Nhum may be boy,

It is important to note that each rule except the first is re-
writing only a portion of the particular string, to be exact one elemen!
of the string, as i exists prior to the application of the rule, For
exzmple the kernel sentence ''The boys have had the money," is
¢he result of applying the rules in order, Thus each item is expanded
one by one, The prccess leading to the string which represents this
sentence would run as followas:




S
(1)
(2)
(3
(4)
(5)
(3)
(7)
(3)
{9)
(13)
(13)
(14)
(14)
(15)
(16)
(17)

{13)
The

»
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The boys have had the mcney.
NP + VP
NP+ Aux+ Verb
NP + _{&g_xl'l' Auxs + Verb

NP+ Tnsg+ Avgo + Verb

NP + pres + Aux2+ Verb

NP+ pres+ havet+ ent+ Verb

NP+ pres+* have* en+ Vrb
NP+ pres+ havet ent Vb

NP+ pres+ havet ent+ Vmid+ NP

T+ N+ NO+ pres+ havet en+ Vmid+ NP

T+ N+ NO+ pres+ havet+ en+ Vmid+ T+ N+ No

T+ Nent+ NO+ pres+* havet ent Vmid+ T+ N+ NO

T* Nent+ No+ pres+ havet ent Vmid+ T+ Nm+ NO

T + Nan* NO+ pres+* have+ ent+ Vmid+ T+ Nm+ WO

T+ Nhum+ NO+ pres+ have+ en+ Vmid+ T+ Nm+ N°

T+ Nhum+ NO+ pres+ have+ en* Vmid+ T+ Nm+ ging

T+ Nhum+ plur+ pres+ havet+ en+ Vmid+ T+ Nm+ sing
sy-=nols waicn staad for lexical itezns are then rewrittenaslexical items.
T+ Nhum* plur+ pres+ have+t en+ havet T _Nm+ sing

The+ Nhum+ plur+ pres+ have+ en+ have+ T+ Nm+ sing

The+ Nhum+ plur® pres+ have+t en+ have+ thet+ Nm+ sing

- Thet Nhum+* plur+ pres+ havet+ en+ have+ the+ money

+ sing

Thet+ boy* plur+ pres+ havet+ en+ have+ the+ money+
sing

(Note: the numbers in parentheses of course refer to the rule being
applied in the particular operation, )

The generation of a sentence (more accurately, of the terminal
string underlying the sentence) can be seen more revaalingly in a
tree diagram of the following type:




Sentence
NP vE (1)
T "N N° (13) Aux Verb (2)
ent (14) Auhxz 3)
!
Nan (i5) Tas (4)
{
Nhura {16) pres {5) \
plur (18) | have ep (6) ,
V;‘b &)
Vb (8)
I~
Vmid NP {9)
1’* N N°(13)
Nm (14)
s‘i\ng (17)
the boy piur pres have en have the money sing

Obligatory transformations and phonological ruies that specify such
things ae the exact nature of pres, etc., will release the kernel sen-
tence in question: ''The boyslelﬁv"'e had the money. "

The application of the rules is thus a purely automatic and mechan-
ical matter. And the construction of a tree diagram is a graphic re-
flection of the rules. If only grammatical sentences can be produced
with the rules and if no ungrammatical sentences resuit from them,
then all that is known is that the rules are correctly formuiated. But
that is all that ie known, this being in itself not very important. For
insight into the language is only reached through explanation of the
rules or *hrough discovery of the rules. Thus it is that in the lezsors
that follow, we have as far as possible tried to iead the student into
discovering the rules, or failing that at least to understand them.

The very bright students will not only discover the rules rather
quickly, but they will alsc begin to discover the Lasis for the rule~
making and to predict subsequent rules, perhaps beyond the limitations
placed in the above seventh grade grammar. For them some dis-
cussion of the reasons for ordering the rules will be pertinent. Why,
for example, isn't NP rather than VP expanded ir rule 2? Why does
(17) precede (18)? What justification is there for expanding (7), (8),

.(AQ). ilﬁi. and (11) in that crder? Are all the rules necessarily ordered?
nd so on,

There should, of course, always be & frank admission whenever
the question arises, that these few rules do not even spproach a full
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explanation of the total complexity that is the English language,

This is implicit in some of the underlying cxplanations of certain
rules in this simple grammar, For example, the distinction be-
tween Nan and Nin is based on the compatibility of these types of
nouns with various verb types: ''He terrified the boy"; ‘'he terrified
the dog"; "He terrified the table.” We sire thus predicting a dis-
tinction between transitive verbs that cen only have animate subjects,
animate subjects and inznimsate obiects. those that are fres to have
any kind of subject and/or object, etc, Again there is material

here for the brighter studenis,

The rules that follow in the subsequent lessons are then
explicated one by one in the student materials, In the additional
notes provided here in the teacher's materials we try to discuss
as far as possible the various difficulties that may arise, Certain
correiations are 2lso made between the terminology of transformation
grammar and the terminologies of traditional grammar,

Rule (1) Sentence-=-> NP + VP

NP = (generally) the s:u'bj'ect of traditional grammar; VP = the predicate.
Exercises: Rule 1

Exercise 1: Pages 6-7 :
These sentences provide a kind of flashcacd practice in "instant’
identification of the two essertial rarte of English sentences,

Exercise 2: Page 8 (Ask your student: to cross out "sentence" at

the end of the first line of directions,) Elementary as this step scems,
students here begin their initial association of symbols with the

two essential parts of the kernel sentence. This is, of course, an
obligatory rule which applies to every kernel,

Exerciges 3 and 4: Pages 8-9

Because arswere will vary considerably, students probably would

enjoy hearing the sentences others write, This provides an oppor-
tunity for you to reinforce the notion that one essential part n.ay be
much longer than the other,

Exercise 5: Page 10

1, The bahy cries,

The childven + play,

The man + lands the fish,
The girl + writes,

The clown + kicks the mules,
The child + sleeps,

The boys + find the dog,

The butler + closes the door,
. The maid + breaks the cup.
10. The fish + leaps,

CD&?'IGU\

Exercigse 8: Page 10-11
Sentences like 3, 4, and 5 in A are likely to cause some probiems fox
the student trying to draw the vertical line in the proper placs, The
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previous discussion of the kernel sentence should at least reveal why
the difficulty arises, For example, ''The friendly kittens next door
climbed the thorny iree.'', might be divided by some students afier
kittens rather than afier door, This division f= undersiandable be-
cause (iii) is the result of embedding (ii) in (i):

(i) The friendly kittens climbed the thorny tree,
(il) The kittens are next door,
(iii) The friendly kittens next door climbed the thorny tree.

Next door is thus the remnant of a VP of an embedded kernel, one that
had gone into the making of the. derived sertence, Rule (2) will clarify
that the first eiement of VP must be an Aux or lexical verb, It is very
important at this point to remember that your students do not yet know
what elements actually occur in a kerne’ sentence, Hence, you should

not ingist on what you know will later be revealed by the pirase structure
rules, You should, instead, try to get them to intuitively eliminate what
they feel is not esseniial o a grarnmatical sentence, What you are trying
to co is get them to see that undernecath a compiex sentence is a simple
base sentence, Tou aren’ trying to define that base sentence, Being
able to distinguish betwean opticnal and obligatory elements is not really
possible here for they have az yet no basis for making such a choice,

nor is it necessary, But you will probably find that most students will
reduce these expansions to the obligatory elemenis of a kernel gentence,
A few may wish to incluce some of the optional elements, Your zim,
ihen, is to iry to get them to cross out items in a way similar to the
foliowing, realizing that so far they are working intaitively and that

there will be differences of opinion, The senterces offered in this ex-
ercise become progressively more difficult, Though you know that

red in "The red house" cannot occur .a 2 kernel, you should only

try to get the student to see that red is not essential to the grammaticality
of the sentence, The iteme which will be designated as optional items

aa we develop the phrase siructure rules are in parentheses, They are
the ones which will probably cause the most discussion,

A, 1. The seceer player| broke the Mbraxy window,

The player broke the window,

2, The angey player| left the field (unexpectedly),
The player left the field (unexpectedly, )

3. The man with.she.gast | is the maiiman,
The man is the mailman,

4, The man whe-is-puchingthe-eart | is the mailman,
The man is the mailman,

5. The friendly kittens next-door | climbed the thorny tree,
‘The kittens climbed the tree,

6. The swaying dancers |looked sleepy.
The dancers looked sleepy,

7, The door of tha-gym |is open,
The door is open,

8. The Hmping man |is a geed carpenter,
The man is a carpenter,

T -
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9. The student with 4he-highest-asosel wing a radio.
The student wins a radio.

10, The ninety-pine boitles! feil {down.)
The botiles fell {downl).

11. The bottles harging en-the-walll fell (down).
The bottles fell {down).

12, The botiles which-are ha-n%-iag-ea-the«wa}ﬁwin fall (down).

The botlles will fall YOO Wiize

B. 1. Harold | slept (in the seft hay) (until morning).

Harold slept {in the hay) {until morning).

2. ALtéd dikfef the gypsy band moved the eoicrfrd wagons.
The band rmoved the wagons,

3. The beautiful girl | sofily sang a Spanisiy lullaby.
The girl sang a lullaby.

4. The person who-gees-this | has some dargerous information,
The perscn has sorae information., [ Some ia a2 determiner. ]

5. The table at the.back of the-reem: | has a display of vare
fossils..
The table has a display.

6. The fish he-caught!| weighed a pound affer-being <lcaned.
The fish weighed a pound.

7. The street in frort of the-sehsol ! is slippery (this morning. )
The street is slippery {this moraing).

8. Justplain water|is the best cleaner for-mest things.
Water is the cleaner,

9. The oldnfashicned trellwvl finsdly stoppad when senyeone
pubed-the- ezpergeney -cond:
The trolley stopped.

10. A dirty {ramp wish e eanel knocked (loudly) {on the Enviths®
back doos. )
A tramp knocked (loudly) {on the dooxr.)

11. A dirfy tramp whe-had - eanei knocked {loudly) (on the
Smithsl haock door.} )
A tramp knocked {loudly) {on the door.}

C. The adjectival phrases included here make these sentences
difficult. You may wish to assign them to above average
studenis only,

). A shaggy dog! watched the lerg line ef people,
A dog watched the line.

2. The huge-polar bear fvemr Llaska ¢ rattled the irom bars
of-the-cage.
The bear ratiled the bars.

v. A slumber party !is a sleepless gathering.
A party is a gathering.

4. The box holding-the-jewels ! fell (from the deck) (into
the muddy stream)
The pox fell (from the deck) (into the stream).

5. The box helding the jewels-whiek the-burglar had
tolien' feli (into the muddy stream).
The box fell {into the stream). -

- N . r
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9.

10.
11,

12,

13.

14.

The part $diked| came last (in the program).

The part caine last (in the program).

This book abewut-Chief-Fosephi included a history of

the Ner-Perce-Indions,

This book included a history. .

The sabres hanging vehind-the-cousnter V have probabiy

been there (a iong time).

The sabres have been there (a long timci.

The detective known-for his sreat-mizd | is the famous

Sherlock Holmes.

The detective is (the) Sherlock Holmes. [ Most students will
want to remove the
determiner the. ]

Birds ef-ail-serts|flew (to the refuge) (along the lake).

Birds flew (to the refuge) (along the lake).

The key to the-filing-eabinet | is in the room where-we-had

Junch,

The key is in the room.

The tawyeris request for mere-dime | bethered the judge

{(immediately. ) .

The request bothered the judge (immediately).

Onty the very-herdest workers! will finish the latest

assignment%y tomorrow. )

The workers wiil finish the assignment (by tomorrow).

The man| had walked 2 mile (every day).

The man had walked 2 mile (every day).
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THE VERB AND ITS AUXILIARIES

These rules provide an analysis of the auxiliary (Aux) structure
of kernel sentences:

(2) VP---> Aux + Verb

~

o
g

N,

A ___. - A __ Lt 2A L\
AUX === nuxl v \ﬂUXZP

-

4) Aux,--»> Tns (M)

pres
(5) Tns-=> i
past

(6) Auxg-~> (have + en) (be + ing)

{a) Aux as it is here expounded will be found in every English sent-
ence, for evsry English sentence contains at least tense, Other parts
of the Aux (see rules (3) to (6) are optionally present-~( ) indicating
that a particular element a2y but need not be present in a given English
sentence for it to be grammatical, §' ? indicate that one and oniy one
of the enclosed items can be chesen, 3

(b) The following diagram, known technically as & finite state
diagram, should clarify the dependencies present for the different
elements of the Aux:

- =
org?sf\«f‘*m\k N, RN
0 1 2 : 3 4 5 A 6;- 7

A grammatical Aux is produced by beginning at state 0 and, foliowing the
direction of the arrows, switching freely from state to state. A segment
of the Aux is produced with each change, The only necessary conditions
imposed are clearly that every VP have a tn3 {either past or pres) and

a lexical verb. Thus, starting at 0, you must choose cither past or
present, Next you elect o chooge M %; modal}, but you may alsc elect
not to choose it, You have a choice of choosing have ( = the suxiliary
heve, not the lexical have), or not; but if it is chosen the necessity of
choosing en ( = the past participal marker)follows, That is, a past
participle must foliow the auxilia-y have, juct as a present participle
must follow the auxiliary Be: thus the difference between "He is sleeping,
and "He is interesting,” ;  and the ambiguity of '"They are eating apples.

{c) Notice that Aux does not contain the sequence of ele.nents
be * en necessary to produce the passive construciion. There are
several reasons for this, ‘I'o begin with, not all verbs can be made
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passive: for example, "The boy had scme money, ' can not be written

Some money was had by the boy,'' Of course it is true that not all verbs
can appear in the progressive, (Have + en = perfect; be * ing =
progressive): We can't write "He is knowing the answer, " But this is
more easily explained as a syntactic accident, somewhat like the similar
situation on the phonological level of the language where ''blik" is

not an Enclich word while hrick is, "Blick’ has possible phonological
components for an English verb but for some reason is not one, (In
contrast to flrp which under no circumstance could be an English word),
That know, dislike,equal, etc, cannot appear in the progressive is an
interesting observation that will have to be handled in a full grammar

of English by means of a context-sensitive rule. at some later time

in the grammar, The more pewerful reason for eliminating the passive
from Aux is that the passiye is a derived sentence type, That is,
"The boy started the fire," and "The fire was started by the boy, "
are related or synonymous in a way that "He starts the fire,"', 'He
started the fire, '; ''He will start the fire,'' are not, The source of the
be * en and the by of the passive structure is in the passive transforma-
tion itself, uot in the kernel sentence,

{d) The list of modals given here is perhaps too short, Some speakers
of English will use dare, ought, need, etc, (''He dare not do it, "
"He oughin{!)t do it,”) These arz, however, less likely to appear as
modals in positive sentences in most American English dizlecis, Note
also that should is the grainmatical past of shall, would of will, might
of may~-~grammatical past, though not necessarily semantic past, In
the same way, sghip is grammatically feminine, but semantically neuter,

Exercises: Rule 2
Ezezcise 1: Page 12

i, howled o, pairnted

2, painted 7. were opening
3. saw 8, are

4, flew 9. looked

5. sank 10, cost

Exercise 2: Page 13

The notion that the root is the verb form to which . may always add
ing provides a simpie test for students to use in ' .. 2ing or recognizing
root verbs: Can the form take ing?

Ao lo Sing 6‘ have
2, call 7, sit
3. make 8. choose
4, fish 9, burn
5 speak 10, lead
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b
B, 1, go 8, be [The jng test immed-
iately eliminates am
i or gre as the root
verd here and in 10, }
L 2, lie 7. drink
3. buy 8, set
! 4, forget g, swim
5, wake 10, be

Exercise 3: Page 14 (Ask your studsals to write forix in the blank
space at the begixming of line 2, paragraph 3

on page 13,)
; veib * tense + root
| l. had ®* past + have 6, ceuects = present + collect
2, goes *= present * go 7. looked = paat + look
3, took = past + take 8, is ® presert + be
4, comains * presenmt ¥+ contain 9, caused 4 past <+ cause
5 lost = past + lose 10, volunteared = pagt +
volunteer
Recognizing Tense: Page 15
sing-present cook - present had - past were = past
ran ~ past write ~ present have - present gtole - past
followed = past saw - pust are = presem
: Exorciss 4:
‘ Exercisse 4 ﬁ 5 are designed to show students the difference between
regular ond irre verb formations, Egzercises in Ruls {6) amplify

this notion, gents mey find a review of the speiling rules usually
agsociated with the formation of the principal parts of verbs helpful

at this puint,
A, 1, painted 6, dreemcd
2, trampled 7, scatiered
3. sinrted 8. looked
4, soaved 9. obeyed
S, ruied 10, pitcued
B, 1, turned 6. hummed
2. acted 7. laughed
3. dined 8, traveied
| 4, tried : 9., stirred
[, 5. surveyed 10, wrapped
; Exercise 5: Page 15
A, 1, fhwaw 3. struck
2, chese 4, £roze
LEKC_"“_T—-I- e e e e o g e e —— R ——




§. sold 8. brought
6. had 9. swung
7. did 10, broke
B, 1, ate 6. shined or shone | The

meaning of the verb
shine determines which
form is needed: "I
shined hie ghaoes. ’mr

"The stara shone last

night. "]

2, went 7. bought

3, lay 8. fought

4, hit 9. shook

5. caught 10, was or were
Exercise §: Pageil

(The rule numbers
catches sleaps writes vere inadvertently left
sweeps cuts drives out of the diggra:a on
eats sings yunsg p. 17, Showr yaur students
drinks where they be{hg\\
S \
Exercise 7: Page i7 1w~ TWyBN)
A1l students should b« able to diagram the sentences in ete, )
Part A,
A, 1 Sentence
NP '?i_’.? (1)
|

Aux Verb + the car {2)

Aux1 (3)
\ o\

Sarah + present + win+ the ca

Sarah drives the car,
2. Sentence
NP (1)
Aux Verb"’ apet (2)
Aux

(3)
(2)

The hamstert pasf‘l' be + a pP%.
The hamster was a pet
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3. Sentence
/"/ -.....\_
NP ve (1)
/ \’\
At,m Verb+ into the sky (2)
Aux, (3)
i &
Tns (4)
A balloont st rise + into the sky
b i
A ballcon rése into the sky.
4, Seuntence
...«-'"‘.'d .
NP /\LE\ (1)
A‘[m Verb + the sign (2)
Aux (3)
| 1 7
Tns : / (4)
i /

Some. boys+ past ~ build + the sign

Some boys uilt  the si .
5. Sentence
NP~ e (1)
| Aux Verb+ a dent {2)
A-:' i (3)
| Tns (4)
The car + present + have + a dent
The car h\é's a dent.

Exercise 7: Page 17

B. The sentences 1n B provide more of a challer ve for
students. Because be¢ has not yet appesred ag { g,
its use as a verb in sentence 2 should not confuse

most students. However, to encourage the student’s
feeling of ' dlscovering something" new about his
language we have introduced be and hiave as aux-
iliaries in sentences 3 and 4. You may wich to
reserve these for your more perceptive students.
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/ﬂK
‘NP r (1)

Aux Verb+ a motto (2)
A,:,xl @
Tns / (4
The club + pasft/"' choos/e + a r/notto.
ThL club chose a rﬁQo.
Se ence
p VP | (1)
Aux Verb+ here (2)
14 /i (3)
Tns (4)
The books + present+ Be + here
The books \aré’/ ;eée.
Sentence
P v‘g\\ (1)
ux/ Verb+ now  (2)
Au:z:1 \t\lxz ' (3)
\ I @
The t1de + preae uxg + rise + now
The txde \E!
Sentence
NE™ Ve (1)
l Au¥X ’/\\%rb'i' the clathes (2)
] Au(\}uz (3)
/ T?s / (4)
Henry + pag:t + Aux, + buryt the ciothes
He(ry had \&}u'ried the clothes.

Tl S,




5. Sentence
NP P - (1)

Verb + an order (2)

S

The'sergeant + p st + gzve + an brder
The' sergeant gave an 5§aer.
Exercise 7: Page RY{

C. Sentences 1, 2, and 3 are simple in structure. Sentences
4 and 5 include .Auxz elements.

1. Sentence
‘-/ \~
NP YE (1)
/ \\.
Aixx Verb+ inthe tire (2)
Aux1 (3)
1
Tng : (4)
: /
I*gails + past + bet inthe tive,
Nails were in the tire.
2. Sentence
’\
NP VP (1)
Al'ix Verb+ information (2)
Ti:s {4)
The ducks + present ¢ f}i"'!' in formation
| %
The ducks y in formation.
3. Sentence
NP ve (1)
Aux ' Verb+ dl?wn (2)
!
Auxi (3)
H
\ Tns (4)
The sun + past + 6’ + down
/
The “sun Wen 46&331.
%T\ww:mivw,:%i.@*w A :: - . w__-/J a_ﬁwx;_\, T S
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TN

Sentence »

Vero + in the garage (2)

\“"//

| Th!e kitten *+ pastt A + cry‘*‘ in t/he garage

“The kitten was crying in the garage.
5. - Sentence

’ NiP VP (1)
Verb+ this system (2)

Amx1 Auxz
Tns

W e ¥ presem: + Auxz + try* this system

W e ar trymg this system.
Past and Present: Page 18

L pres
. Rule (5) Tng~--- i
past

This is the first exclusive disjunctive rule, as rules of this
type are known technically, That is, the element to the leit
of the arrow can be divided into two enbsets, The tense of
a sentence, then, will be one or the other, but not both.

Auxiliaries (Have + en) and (Be +_ing): Page )8
Because of the importance of Be both as auxlhary
and as verb you might reagonably expect students

to learn its eight forms: be, am, ig, was, were
being, been, This is the only verb which has S forms,

Exercise 8: Page 19

Students will nee2 to retain the correct tense form in
rew riting the sentences in A and B, This prepares
them for the concept that the shift of tense from verd
to helper ic automatic,

Ll : N “ N
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KN . N . . N o a
£ = e o, TS S s € £ A o~ W,_ ot = . 2 RN e s P T A




The boy was going to the circus,

The miners look for their friends,

The n.iners are ookigg for their friends.
The ship draws draws near to the dock,

The ship is_ is drawing near to the dock.
Dishwashers becam ae more popul@,r.

«33-
A, The boy went to the circus.,

ULBBWBEHEE‘B WP?'B Decom more popwro
Albert Schweitzer gervee as a doctor.
Albert Schweitzer is se as a doctor,
The survivors eat very siowly.
The survivors are eatin very slowly.
The title of the Tilm glitterad in the night sky.
The title of the film was tter;g in the night sky.
gge wmg blows throu'tgrfmy n c’;a:

e wind is blowing through my thin coat.
The artist paintaed three rmurals,
The artist was pawanting three murals,
They studied Roman history.
They were studying Roman history.

mmdmp\@mwu

b
Q
[ ]

. The doctor gang in the shovvr,

The doctor wasg singing ia thie shower,

Jack Sprat gte wo 22,

Jack Sprat wage eating n- fat,

A aaﬂor lcves the sea.

A gsilor is loving the sea,

Ned washed the biackboards careiully.

Ned wag washing the blacitboards carefully.
. The students had a party.

The students were ving a par./.

Exercige 8: Page 19

C. 1, Sentence
N e 8
’l A}.lx/\ \V\?rb'l' in the sihower (2)
Aus, (3)
Tns / (4)
past (s)

1
The docter + p&st + ging+ in the shower.

The doctor sang in the chower.




£2, Sentence

N VP (1)

N

Verb‘!' no fat  (2)

iE

Aux (3)
|1

Tns (4)
H

past (5)

Jack Sprat‘lpaat + eat + no fat,
Jack Sprat a&zé no ’f’ t.

¢

# 1 You may treat no as & determiner or change it to gsome. ]

3. S
en'l:‘c_zg__c.zge;.%‘~
NP VP (1)
e

ATx Ve[rb + the !sea (2)

Txgs (4)
: g.sres ort i {8} “
i ! 1

A gailor *+ px’esent + love + the sez

i

A sailor lovee  the Bea.
4, M\
NP - jj’g\ (1)
Auz Verb+ the blackboards carefully (2)
| Tns (@)
i 5

Ngad + 'past + wash * the blackboards carefully
Ned washed the blackboards carefiily.

»33.::::% I




Sentence
o,

NP VP (1)
| -

Adf Verbt+ aparty (2)

N A

Tr'ts {4)

\ pa'st (5)

!
The students*pal.st + }ve + a party.
The lsmdents hid e -Party.

Exercise 9: Page 235 ‘

Students” answers will vary considerably. Discussion

of these differences ghould help the class understand

the Be + ing.concept. Some students might enjoy
constructing strings of symbols for the more imaginative

ﬂﬂﬁ%

Exercise 10: Pages30<21 (The ¢ has been left off of hunt in the example.
You may want 1o encourage students to check their auswérs: F
by having them copy the giring of symbols above the verb

form they supply. Thus,

1. The.stom:*' pres + ‘gnd

The'story ené's./'

10. His mother+ + be+t ing¥ c/all
His mother was calling,
A, 1, The story ends B. 1, The visitors loft
2. They sang 2. Sandy Koufax is pitching
3. The paper came 3. The hairdresser knows
4. The bridge sngged 4. Rondid
5. We had 5. ‘The doctors are checking
6. Some people seem 6. Iam
7. The roads are 7. Eprosion caused
8. Jesse : bonght 8. Everyone saw
9, The sea is riging 9. Newsmen were saying

10. His mother was calling 10. The sun was shinirng.
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C, 1, The customer paid
A ding
« guiae €2
4, You are looking
5, The swimmers dived or dove
6. Mistukes teach
7. 1am going
8. The tenant was moving
2 He wore

1Tn 31y TP SRR J PRI | PO, |
4V lﬂﬂ Dmxmg, Wao UEW DA

ge magterial and exercise on page 22 should be optional for bright
Exercice 10s: Page 22

1, Sentence
\ Vefb + ia the chower (2)
Auxl// Az, (3)

l

Tlna (4)

pa (5)
-

|
The uoetor + past \} j: + ging + in t.17 shower

Thae dﬁctef- was in the'shower
2. /Sjm:en e
NP \P {1
Ax—" Verb # notat (2)
Auxl/ \Auxg - (3)
o]
pa (5)
b',e + ' I {3)
Jack Spratt + past *+ bl + + ept + no fat

Jack Sprait was eating no fat,




NP VE (1)
Aux” Verb + the sea (2)

Dl
\ A;.txf Ayuxg (3)
TTB {(4)
prasg (5)
. 70 + ing (6}

4, | )enten e

NET (1)
ﬁu( Verb + blackboafz"gla (2}
re
A\'xx{/ Aux, A
T (4)
o
i be + 11@ (6)
Ned + past * be + ing + wash + she blackboards
\_— \L carefully
Ned was the blackboards carefully
5. 85’“*2?_2:
/ -
NP T (1)
Aux Verb + a party (2)

Aux/ ‘A\uxz (3)
T?‘B (4)

st {5)
e \ be + l (6;
The gtudents * past '>e ‘:%.na* have + a farty
The students \v\vare ving a pariy.




The Auxiliary

(have * en): Pages 32-23

This material prepares students for the ¢ acceptance of the
tense forms of the auvxiliary have by looking =i the tense

forms of have as a main verb and by reviewing the ¢snse
forms of the auxiliary Be,
frames to test the present and past forms of baye, Bright

edradambea mi“ nnathielider sna dmaneadinbsole: Siaomd Sl coren ol

W YWERNE W AW

W e I VMNWRWEY VW uuul\vu&sobv

X might ba hel;

[ 1~

have and has are dmermined by the subjece.

Exercise 11: 2age 23
rote-~John had written a letter to his father,

1,
2, hoo&-— ~Team captains had ghaken hands,

cfu!. to construct

[ 283 wmv s

3, fell--Partas of the deccration had fallen off,
4, freezn zes~-The water has frozen in the pipes.,

5 drove--The mayor had dr

The en form: Page 24
You may want to tell your students thet although not many verbs

actually have en in their pest
en as the cover
foria which they label ed,

participle form
symbol to distinguish it from the past tense
Thz usage manual includes additional information

£ use

and drill to help students develop a better understanding of
standard usage of verb forms,

Exercise 12: Page 24-25

driven across the aew bridge first,

A, 1. played 11, brought
2, secmed 12, seen '
3, used 13, dome
&, said 14. found
5. 7an 15, driven
#, ridden 16, washed
7. Znocked 17, broken
3, struck i8, copied
3. grown 19, tried
10, stayed 20, captured
B, 1, known 5, last
2. eaten 6, stolen
3, drawn 7. put
4 sWUM pray
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#9, lain 15. had
10. sit 16, worn
11, swung .. 17, been
12, thought 18. fall
13, come 19, drunk
12, givern 20, gone

BEzercige 13: Page 45

A a e —2 P Rem . WA - A a8 _
£, 1, pasv ™ nave ' gun ' arrcrive

Susan\hﬁrrim her mother,

2, pastt havet 7n+ work

We h\aﬁ/;:orked‘{r;hard.

3. pagtt havet ee'i' crawl

A snake had cravdg:nto the rock,

4, pastt havet en+ drop

The rescuers had dropped supplies.

5. pres+ havet en+ cover

Fog has coveme valley,

6. prei‘: hsve+ en+t hurry

The boys have hurried to finish the work.

7. pi'e\s,: have + e{'i' appear

Mr. Grimes hes appeared in the garden.

8, pres+ havet en+ puss

Time has pasded swiftly.

9. pastt havet en+ change

She had changéd her mind again,

10, pest+ have _en* hear

The audience had he%e joke before.
B. 1. paz.t hevet eniﬁng

The bell had rurig before we arrived,

2, prest have? en+ come

7/

He WE come fora cup of suger,

i

oY, o ey
e . }a‘l Vﬁly
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3. we+ en* giye
> N

Two newspaperﬁ._qg_ given conflicting reports,
4, pres+ havet en+ lose

Nick has lost  his math book.,

You  have ~ written_ a good paper.

6, past *+ have+t en+ take-

4-"".”
A bird had takén the ring.

7. pres+ have+t en+ do

The doctors have done all they can,
8. pastt have+ en+ begin

Many runners had _begun the race,

9. pr\es“‘ have+ en+ be

We _h_gyg been  here before,
10. pres + have+ en+t have

Steve  has bhdd no help.

1. pres+t have+ en+t+ fall

An awning has fallen on the sidewalk,

2, Pe@“‘\h&g" eva've
The medicine had had good results.
3. pres+ have+ en+ sink

/ o
The barge hag sunx,
4, pa%ve + w;mk
Dr, Jekyll had drunk the mixture,

+ + en+

o pre\s; Jyve hkbe
Weeds lrave a nuisance,
6. pres+ have e\n‘*‘)e"‘ ing + throw
They have beern  throwing these away.
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Exercise 13a: Page 27

1. Senten{e\\\ .
NP (1)
Verb + with her mother (2}
A?xl/ Auxg ‘ (3)
Tns (4)
i
past (5)
’ have + en | {6)
Susan + pas{ + haive + erln\‘i' arrive + with ker mother
Sulan ha/d/ a@d with her mother,
2, Sentence
NP VP {1)
A — berb + very hard (2)
Ap. R
1 ux, (3)
Tns \ {4)
past \ (5)
have + en | (6)
We + past + have + en + work + very hard
il N / |
e had worked very bard

3. Se ence

)X werb + onto the rock (2)
Aux Uxeo (3)

1 v
Tns - (4)

st - (5)
P haye + ¢ ()
[, .

A snake ¥ past + ha
[ e \/
A sndke had crawled onto the rock,

e en + crawl + onto the rock
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4, Sentence

/ h 0
NP~ \VP\ (1)
)nx\// Verb + supplies (2)
Tns - {4)
szt ' (5)
i have '+ en (6)
The rescue‘m"' P Q\"‘ l»;ave + e:'n + drop + supplies
The rescudrs had dropped supplies,
5. Sentence
Aux Verb + the valley (2)
Aux A (3)
’ 1
T?s (4)
pres (5)
: l‘laave en (6)
Fog + przas + hav/e + er{ + cover <+ the valley
N, 7
FJg hat % ed the valley.

Exercise 13b: Page 23

4. //Sﬁu‘t enee
NP

pJ have + e be + ing
\
The bird + past + ha\ve‘*‘ ({)* ing + ouﬂ'yest
eef buil

The bird d b

, J'aw;“.;‘:‘;’-z‘""-?évs‘ A W“f’//v““‘&‘\t‘w “-"—:—"'”"a -7—,“"(‘,‘":7;‘5
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8. Sentence
NP — VI (1) -
\ R
/ ™ o
/ux\ Verb (2) 5
Auszy \ (3)

" "'?ﬁ / \ e

| \ (5)
/ ‘T hiws L en be ¥ ing \ (6) f
Therojber*pas{* Q'e'*’ e\l: *b‘e + &g"’ n
The robber had beén/ m}l{.

N

i2, - ;‘“__'S_'e,g_’tence

NP v (1
[ ux/ Verb + every day (2)
g, | (3) -
\ 4) y
pres have + en be ¥ ing gg; *
The beach boys + pres'l' have'*' en+ he'l' \ng + every day N
The beact‘ boys éﬁre/’ be/ ué{ every day, N
16, Sentence :
Np—— (1) ,,fu
u/ \ erb + inJamary (2) ‘
v us, | @ y
| o | ' (4) 5
p:;!es h7v‘e en be + ine fre ggg =
The pond + pre{'?aw A ta/ + e + mg;: ieze + iniJanuary k
The ’pond ha béen fx ezmg in Jamzary :;
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The Modal Auxiliary: ."age 29
See (a) page 26 of this manual for explenation,

Exe;rcise, 14a: Page 31 (This ezescise should be optional for bright
students,

1, Sertence

—p e y
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wl§e
ve Sentence
g y 2
‘! &A‘u‘/ qurb (2)
: A?gl\ (3)
) Tns M (4)
[
' p{es (5)
Joe + pres + must + study
Joe must tudy,
- 4, Semeng*\
; NP/ ~vyP (i
| b Y b )
ux er
J/
Azgtx (3)
'I‘r!as ; (4
j pIes I (5)
I <+ preg + shall + eat
| s\\
I 1 eat,
56 Sentence
..o-——‘/ :
NP >VP ¢3)
/Amz Verb 2)
A}'ﬁ\ \A“"z \ 3)
T?B M \ v (4§
. . past (5)
\ heve ¥ en (6)
| The iz;avenezz' + rLat + e mve +\'en\ ‘”’/'gwp.
The traveller should gve stoppad,
e SR T‘Tf"ff'f" R S SV 5M“t."'




% Exerc.ge 14: Page 32
A, 1, pres+ M+ study
3 Jerry mugt study harder,
i 2. pres~ M+t begin
The show will be__gg./‘g at nine o'clock,
3. pres+ M+ look
You m_gy}gg_'{the digplay.
4, past® M+ pget
I Frank ghouid gét the information.
i 8, psst+ M+ pliy
i His brother might play the trumpet.
8. prw go
‘The neighbors c__gg_\ggwith u3,
7. past+ M+ sce
No one could it.
8. pastt M+ win
A touchdown *;ggulg,\é_in,the game,
: 9., prest M+ havet en+ siop
O/ ul}
A goat must have stopped the train,

10, preg+ M+ be+ ing+ watch
Phe pitot w1 b watchilg T w
The pilot will be watching the weather,

/7
B. Your clsss will find the structure of these sentences
conusiderably more coraplex. Be appears a5 a verb in
Sentences € and 9; thig' offers students the challenge
and opportunity tu predict what might come next in their

grammar, :

i, prest R + fig

l The pattern must fit the msaterial,
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, past+ M'* hak"' en+ write

The prisoner <'ru1d ve wm n the note.

3. past+ M+ bet jng+ read
pa P ng " re
He Bhould be reading in his room.

Ze pres*r M+ have¥ epT accept

The Trojans must lhave acceptad the horse,

5. pa{*‘ + hayet+ en+ help - o
\ ]
A kind woirrd would have heiped a great deal.
#6. prest M+ IBe
The test will be easy.

7. paat;‘;.M"' have+ en+ bet ingt+ wear
... . The men ghould have been wearing heavy. clothes,

#8. pagt+ M* haye® ent B<=\
John's demonﬂr;;aw better.

’ 9. preg: M+ be® ingt come

The water & can k¢ coing from springs.

10, past+ M+ have+ en+t tgke

Dinner ghould have taien less time,
A, 1, pagt+ fiash

‘Lightning flathed.

2, pres* start

The rally sterts next week,

3. past+ havaet 7n“¥' drive

The girls had driven ren fifty miles,

#[ The sentence containg Be a5 a verb, ]
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4, pastt bet ing+ swim

The scouts were swimming in the lake,

5. pres+ have+ ent injure
" -
Herman has injured his foot,

6. pagtt move
Qur nmw away,
7. preg* bet ingt sink
preg \ g pe
These weights 2re ginking the boat,

8. pastt M+ taste
The steak should taste good.

9. pregt hayvet+ en+ bet ing*t take

Only our friends have béen taking us geriocusly.

10, pres+ M+ have+ ent hear

You may have heafd the talk.

B. 1, prest havet ent gee
Mother geen Mrg, Macy,
2. pastt M+ bet ingt hide
Trout _b_éil ing there.

2. prest havet ent phet ingt atiract
F — L,/) g.{i‘f"’" -
Crater Lake hay heen attracting large crowds.

4, pres® i+ bhavet ent say
Ulysses must heve said something wrong.

5. prest haye?¥ ent bet + give

Great man have been giving time to this problem,
6. past+ M+ havet en+ “do ‘
-w‘"‘"’ﬂ

1 would have doné it differently.
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7. gttt M+ have® en® bet ing+ coilect

Kevin cofild havz heeh collecfing grasshoppers.

8. prest haye? ent be+ ingt git
The basket hag beén gitting there since Thursday.

9. va%;\* }ave |
Mosat of the group had had the measles,
#10., pres+ have™ en+ Be
Jack hasg beén our fire tender.
11, preg+ M+ havet en+ be+ ing+ sleep
Robby may have heén sleeping all day.
12, prest be+ ingT cause
The new puppies are g@_{ing much trouble.
Bxercise 16: Review: Page 33
While students™ sentences will vary, the verb combinations

used chould be gimilar: tc these:
A,

do or does

spoke

have or has broken

was or were cleaning

may, can, shall, will, or must think

is, am, or are

am, is, are buying

had tegun

might, should, could, or would be writing
has or have marched, '

0@@30’9’“&0&&“

-]

w
[y
o

was or were riding

may, can, ghall, will, or must go

might, couid, should, or would go

has or have been taking

may, can, shall, will, or must be catching

had had

may, can, shall, will, c¢r raoust have come

saw ‘
. might, could, should or would have been reading
10, has or have Lecn raising

#[ The sentence contains Eg ag & verb. ]
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C. The directions in C should read: Construct strings

of symbols for the verks in the introductory sentences on
page li. This exercise offers a quick review of the ways
auxiliarieg affect verk form and the strings of symbols

that result. You might ask some studeris to piace diagrams
for these sentences on the board and _ 5 write the six

rules used in constructing the diagrams and strings of
symbols, This should show all students how phrase
structure rules reconsiaer and rewrite elements of
previous rules,

1, pres+ drive
drives

2. past+ drive

drove
3. prest bet ing* drive
% gs.;/—-/""i"”
is driving
4, prest havet ent drive
/«;—.{f%"
hag driven
5. prest have+ ent bet ing+ drive
has beeﬁ;ving
6. prest+ M+ drive
.«-——/
may drive
7. pgstt M+ havet ent bet ingt drive

should have been driving

8. pastt M+ bet ingt drive
eould be driving
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RULE (7): TEE VELE sk

The equality in number which czists between the elemernts on each
side of Be (and some linkiny verbs~-usually stay, remain, und
become, in American English) is very geueral but there are e~
ceptions, For example, we say "The people &re the government, '’

T'hay anvavrnrmand $4a 4ha namela
AN BV W AANLNALY ST WAL USRI

The statement that "Be is tne only vesd that can [invert in
questions] withont adding an Aux” ir 10t quite accurate, for the
lexical verb heve (not the Anx have) has this property in many
dialects, {'Have you a book cn casexz?" for example,) Note,
however, that unlike the lexicsl Be, havs olfers a choice in

this respect:

{i) Hehasa doge  me——
——-“7
(i) Has he a dog?

or
{ii) Does he have . dog?

Whiereas:
(i)  He is my friend, ::%
{ii) Is he my friend? \

But not {except in stage Irish):

(iii) *Does he be my friend?
Notice that Aux have does not have the choice of kexical have:

(i) He has been here, =

(ii) Has he been here?
But not

{iii} *Does he have been here?

Pxercises: Rule 7

Exercige 1: Pazes 35-38
ATl students will need to do both A and P in this exercise to
see that the verb Be doer connect words of equal value {in A)
and that other verbs, excluding linking verbs of course, do not
{in B), Some students will probably observe that the subject
(NP) and the word uzed after Be do refer to the same thing;
that is, they are equivalents.

* indicates a nongrammatical sentence




Jonathan = quartierback
Mr, Grimes ® mayor
boys * rivals

aur’.g @ (snake) charmer
L % librarian

Teom 2 elephants
girl = watermelen
witeh = brooms
minister = gnails
Rosa = tumbleweeds
cat 2 canaries

Exercise 2: Page 36
These sentences provide an opportunity for studerts to test their
ability 1o sort out the verb Be from all other verbs, This reenforeces
the iden that they are considering Be as a small class of verbs,

You might want to explain that all remaining
together at this point, resulting in a rule that says that all verbs
are either Be or another verb, and that the other verbs will be
studied subsequently in 2 a;mﬂa; manner,

marbles 2 beauties
mayor * judge
caterpillars = pests
cousins = firefighters
Tomatoes = vegetables

verbs are lumpeu

Verbs in Sentences 2, 4, 5, 8, 10 cannct be replaced
with =,

. castle = museum
Bill = tank
home 2 (briar) patch
- lookout = whale
Seaweed ® propeller
horse # Ciydesdale
7. allowance = doilar
8. GCenersal Lee ® Traveler
9. king = tyrant

&

O)U‘:b@l.\)!—’

10, farmer = straw

Exercice 3: Pages 38-37
exercise was includ

ed to show students the equality in number
which exists between the elements on each side of Be, (Some link-
ing vzrbﬁd alBso have this quality, ) Again, students will need 1o do
both A a

No sentences in A havs just sne plural word because Be is
used here to connect equivalents, Sentences 3, 4, 6, 8, 9, and
10 have the pairs of plural words,
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In B, most sentences contain a singular subject with a plural word
foliowing the verb, But the number of either the subject or the word
following can change without affecting the other, But in A, if one
changes, the other must, This emphasizee the frcedom other kinds
of verbs have to select an object that does not necessarily agree in
number with the subject,

B,1, Tom =

einl o
a-.-

Exercise 4: Pages 37-38

Sentence 7 which obviously lacks either a predicate noun or pre-
dicate adjective is included to encourage students to predict the
third kind of predicate word that may follow Be,

1, The weather is perfect.
The perfect weather is perfect,

2, The kitten's fur was thick,
The kitten's thick fur was thick,

3. The foreign student has been unhapey,
The unhappy foreign student has beex unhappy. -

4, His hanis are cold,
,His cold hands are cold,

5. The milk is sour,
The sour milk is gour,

8., My tonsils were swolle
My swollen tongils were swollen,

7. Trumbie’s faat are frostbitten,
Trimble's frostbitten feet are frostbitten,

8, The fudge cake was delicious,
The delicious fudge cake was dolicious,

8., The house was tnere,
Exercise 5: Page 39
The main objective in this exercise is to show students that the verb
Be must be followed by & Pr whick may be & noun, an adjectivs, or
an adverbial,
Exercise 8: Page 39

1, l\g’ + p&ﬁt\"' Be + Pr

Bruno 8 lucé'.

4
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2. NP + -past + Be + Pr
! //

Th\e\children were outside.
3. NP+ pres tge'*‘ Pr
ara the representative.
4, NP+ pregst hs-3+ gn+ Bet+ Pr
M:;é Biggs has been{ mmeggagst.
5. NP+ pastt be+ ing+ Be+ Pr
Tae chimps were being talkative,

o. pres + Be+ Pr
Porpoises\{ u(’

7. NP+ pregs+ M-~ have*'ye*' Pr
The boy must have beeri a probi
8. NP+ past+ have?* ent Bet+ Py
Tommy had beef a ventrilogu’i;:—
’_‘ 9. NP+ pgst+ M+ Bet Pr
Nancy sln\é be the ‘t{lgirmam
10, Np+ past"’ M_Bet Ppr
The cat l:}ghu be away.

Exercise 7: Page 40

This exercise demonstrates the ease with which Be forms
invert into questions without requiring the addition of dc
or ano%h;er suxiliary, (See Paragraph 2, page 44of this
manua

Am I your best frierd?

Is Ronald a superior studen:?

Are you the lucky winner?

V/as mother unhappy ?

Were the apples bright red?

Have the math tests been difficult this year?
I8 he being a nuisance?

Will you be sorrvy?

9, Was the accident a calamity?

1¢, Has he been ingide?

o
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nual N>y
T}w ! (4)
plies (5}

i a'i'/?,r (M
‘Animals + ,\w/“"/e‘!‘?verr

Ax}mals are  claver.

2. Sentence

N A}"ﬁ‘g\ w
M Verb ?)
Auzy {3}
The | (@
pa!.st | | (5)
T * P{ (6)

The ozanges + + bet+ green

The' oranges weTe  green.

S. Sentence

NE Y (




4 . Sentence
Np pd (0
Av¥’ Vb 2)
Aux;  Alx, (3)
M
-, Tae {42

r’azit : | Kt))
have + ez \ (6)

\ “Vrb  (7)
|
The child + past+ have+ + forget. .

The chiid - had icorgar!:gno

S Semgase’e
\
N A\ 2% (1)
Aux ~ Verb (2}
?xl Auﬁxz (¥ ;
| {2)
paLt . (5)
be+ ing \ (6}
/ /X;b (7)
He'l' pﬁt* be+ ing+ léarn
aé" -
| 1
8. Sentence
NP P
Agy
~
Toz K B
pres

euchers + pxgg‘ +
'Fmehew
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Sentence “

NP

l

NP - yp
A/ \“{r‘ b
er
\ e r
.A.m
1
szxs
past
Vb
Alumb jack+ pheth ob bet

A 1 erjack objéﬂted.

Sezs;c','nee .

(1)

(2)
(3)

(4)

(s

{7

i




NP //Valmr {i)
) {
Aux b (2) . *

)

/
T (4) ,
A‘r@ - 1\{1 ~ fe)

L i i ’ RGT
| Vb (e
le + past + can < o

e
L

B. You rasy nesd to remind studenis thet other words
may follow Vrb, (Sentences 4 and 6). :

NP VP | (1)
Aldx Verb ?)

n Tns | (4}

past {5)
Bet Pp (7}

The 'menu + past * b“e/'l' Frinclz‘

- The menu was French,

2 | M\
NP P (1)
/)\‘;\,b (2)
awy | (3
Trs - {(4)
prLs )

\

\
Scotch tape + ppe + udeful
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G e

L %

-

R }gﬁenee
\ | iﬁ' | (3 o
& !;xi !l .
i Tos (4}
\ e fnd
WWU Wy
. | [ '*ff;'l» Pr. 7
‘I‘s:e iI:ﬁ:iz’«l + !&* look+ sick '
The b;.rd 1 fed . eick, |
4. { "The boumiaty’ may be sdded with ‘Vezb in (2) ;
or Vrb in &7).. | !
Segt@nce . |
NP R -2 3
- A% Verb * the {2
.‘-‘M \ ' - bounds 37
A‘i.xi Aukg {3
Tns : ‘ {4
pz!es | | (5
‘ havc'*' en be% ing (s
] . *
/ V"rb (7
l i
Lo .. . The cowboys+ pres *+ have+ n‘*‘ be + + merk+ the bound:
The ‘cowboys~ have - been marking the boundsxy.
. 5a.. Seutence o
y wE Ve
- A‘%"l MR _@3}
o Tps oo o} ('_‘.9
\ past \ (5)

Bet* Pr' ~ (D)
Some waves + past 4 b(:.'oth-cowe»rem

Some waves  ware froth-covered.

v — r—z :"“br
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&, [ "The boy" msy be inciuded in (2) or (7).)
Sentonce

| | Au"{‘wﬂ | \?é‘vb + the boy (2)
T~ \

)

I
ét'isl ArXy {32
Tns \

]
»
b
]

.
Ast, 'Berrard bad  folloWed  the boy.
C 1, Sentence
"

|
i
%
"’ p S
i ‘ Ak Verb {2)
£

§ g
3
3
g
2
£
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2. Sem‘%ence:_
N?P j}i\ | . (1)
ag” VE @
A Ag 3
pa’st | {8)
have+ en (6)
f ' ﬁe + P‘r (7)
Thel gig + p;st* have + e!{"//be'l' e?)erts'
The gymnasis . had been experts,
3. Sentence
NP | 1)
| ‘/\?rb (2)
| A (3}
5 | @
¥ plst i (5)
(6)
The umpire + Ast + can+ ve b n‘*‘ ’Be + IVIu;'s»° Stuart:
The umpire  could have been Mrs, Stuart
"{‘ 4, Sentence
= (1)
(2)
,} (3)
| e
- {5)
g

' ‘Those tree‘ﬁ;‘* pi'qé"' ‘bé"’ﬁ’:‘maplee'

Those trees are maples,
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NP Twp (1)

Arx Verb+ the street (2)
Aux, ' (3)

! 38
Trs SR 7Y
pa'st 'f (55
p‘a’st Vrb (N

j
Lights + pagt+ brighten® the sirest
Li.ihts brightened  the street,

Senience
N Ve (1
| Au'x'/ Verbt the answer {2)
A?{ '\A‘g&g (3)
Tns (4)
pr’es {5)
haye+ én (6}
Vrb (7)
Few+ prést / eh+t discove/: + the ansgver
Few discovered the’a’n?v:v;r.
Séntehcé
NP VP | (1)
| Aux Verb (2)
1 (3)
T "M (4)
past (5)

\ Be+ Pr (1)
The\un"' }as’c* :Ay* \a'ﬁ' u;&taire
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g8, Sentence . {
— i
., R ’, E\'{P
| ]
'r?{ !
pres |

Thelbatile + preg+ !

Thz'battle
9 Sentegg_e__\
NP/’/ ‘i&\u)
\ e

1 Aux Verb + jcas @)

e R

AUX«g (3)

Tns | . (4) i
o pres | - (s}
\ be ; (6)
\ \ \m ()
Mary Ann+ prec*t b + |

E
[

‘ shell +
Mary Asn - iB pe/)%
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N x {1}

| f?;“tie‘fgb (2}

(33

(2)

(5)

(6)

. Bet Pp (7)

T

- ’ \ ' ” } .
The‘mechanic*' past+ challt have+ ont Bet ca
g =
The raechanic should have been careful,

M‘*, R
<




RULE (8): THE LINKING VERB

In the gection for Rule (11) you will find additional discussion
of the basis for further subclassification of Vipt, While Beis

free to combine with all three types of Pr, ndi a1 linking verbs
occur with all types of Pr. "Stay" and "remain" may combine
with all three types. But some linking verbs, such as "become, "
are restricted to occurrence with Adj and NP, while still others,
such as "taste, " take only an Adj.” The student version does not
attemnpt to explain such compatibilities and incompatibitities at
this level, but your more perceptive students may become aware
of these distirictions as they study Rules (8) and (11). However,
students should not generally find Rule (8) contradictory or con-
fusing for it simply establishes the linking verb as one that occurs
with Pr, as does Be. It does not assert that all Vink take all

three kinds of Pr as Be is free to do.

Many classes mey find it profitable to begin compiling a lexicon
while working through the exercises dealing with verb classes.
Such a record should help students remember that some words
may be found in more than one subclass of verbs.

Exercize 1: Pages 4847

‘This exercise has two purposes: to show the similarity between
Be and Viak and to prove that every Vink must combine with a Pr.,
If the use of the adverbial of location with a linking verb tends to
confuse your students, you inay need to peint out a further re-
striction: a verb that occurs with an adverbial of location must
be able to occur with ancther type of Pr as well in order to be
classified as a Vink. In other words, ro Vink occurs with Loc
only; it must also be compatible with one of the other types.
Thus the verb in the sentence, "The boy ran up the hill," could
not be identified as Vick because, although a student might substi-
tute "was” for "ran” and conclude that "The boy was up the hiil, "
is a reasonable replacement for the original sentence, an attempt
"> combine "The boy ran'' with another type of Pr fails.

Because Sentence 24 in Exzercise 1 is somewhat ambigucus, you
may wish to omit it from the assignment. The sentence The
snake apreared on the patio ' can actually be understood in two

ways: . E
The uneke appesred {to be} on the patio. {Viok)
The snzke #ppe-sced (came into sight) on the patio. 'Vin)

In the first senteace the characteristic to be of some of the link-
ing verbs shows up. To clarify this ambiguity, you might try a

question test: the first sentence can only become "Where did he
appear to be?" while the second can only become "Where did he

appear?" 1 .
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1, The iron was hot, (adjective)
2, The cat was a rat, (nota Pr)
3. Bveryone is ready. (adjective)
4, The harmonica was flat, (adjective) :
5. The soldier was rebdlious, (adjective)
8, The goldier wag the corner, (not a Pr)
7. Chariie was antagonistic. (adjective)
8. Washington was President for two terms, (noun)
9, Your answers are correct. (adjective)
10. The child was gulien, (adjective)
11, Abreham Lincoin was a martyr. (noun)
12, The new dress was her, (not a Pr)
13, The milk was our, (adjective)
14, The weaiter was the soup. (not 2 Pr)
15, His reply was true. (adiective)
16, Mr, Jessup was the bell, (not a Pr)
17, The principal was a raise, {not a Pr)
18, The principal wag angry, (adjective)
19, The crowd was outside, (adverb)
20, Freddie was uncomfortable, (adjective)
g ;'. %%hn hﬁlbden weas at home, (ba.lo:l'cf'er(b)d ive)
Ze e eitter was raiserable, (adjective
23, F‘re&die};@fas his way carefully, (not a Pr)
24, #*Cee thz preceding explanation,

Exercise 2: Page 47 |
exre are various possibilities, Heraz are some,

The coffee smells good,
Ferdinand smelled the flowers,

Our cat ge's excited,
Our cst ge’s mice, l

The bells sound loud, h
The police sound the alarm,

Time is growing short,
Jake is growing corn,

The chamelaon turned red,
Joe turned the corner,

The children feel happy.
The shoppers feel the material,

He looks {i1,
He looks at the book,
Page 47
The verbs in Exercise 1 which can be replaced by an equal sign
are, of course, 8 and 11, : . . i
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Exercise 3: Page 48

This is veally an optional exercise, Ask your students
to put the gymbols above their sentences. Since their
sentencss will be different, it is not posuible to give 2
key. The purpose of the exercise is to give pm ctice in

vriting symbol strings and to emphasize the basiz form
of aentences with Pr's,

Bxercise 4: Page 53

L _,i%mme\\\
NP — VP

. ‘/
A?x - \Verb
Ai:xl
e
Past |

| J Vs

m!.nﬁ"/ 1‘%

The + jron + past + gmeil + hot

Thd 130 \}meﬁﬁ, hL/‘

(1)
{2)
(3)
(4)
(5)
(7
(8)

e ¥
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b
v
—

Sentence
N
Au_x/ %b
Auk,
’I'n!s
Ps
Vro
J‘b + a rat
Tibe + cat + past @+ smélled + J rat
| all i
The cat smaglied d rat.
Sentence ,
//\
NPT VP
Aux/ Verb
Aufxi
* Tnj
Pr.eis

Everyone "preg- * seemn + ready

Everyone sesms ready.

(1)
(2)
(3)
(4}
(5)
(7)
(8)

(1)
(2)
(3}
(4)
(5)
)
(8)




4, Semfnce
I?P// \\w (1)
Auz"‘"'"T - erb (2)
"Tns (4)
- P}'ea ' (5)
: i B+ Br (1)
, \ Evéx'yone ° _.pres * b/e + ready
T Evei!‘yone \\if’/—— r!eady.
o _ 5. Sentence _
| NP~ | TT~p (1)
X | | AMAerh. (2)
- AL:1 {3)
Ths A (a)
Past (5)
B Veb n
;“ Vb + the soup (8)

. | !
"g"l’c?e""""ivaiter * p‘ib;//w,“e + the soup
The waiter ¢ thJ soup.

Exercise 5: Page t3 \

Students will notice that in the etrings now they axe able tc classify
all verbs as Bg Vink, or Vb, ’

A, 1, NP"*'paWe*' P
‘megims - whs ﬂluliah.




3.

4,

9.

10.

4,
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NP + past + Vink + Pr

™~ ‘
An apple bec‘age/ wormy. *
NP + presthave + en + Be + Pr
) N . !
Felix hids béen  upstairs.

NP + pres+ M+ be + ing + Vb,
The general m be sleeping.
NP + past * haye ¥+ en + be + ing + Vb ¢ iron

N N N

America had béen exporting iron,

z;ub + pzv + v%nk * Pr
The buildings w remsain dorxizitories.

NP + pres ye + Pr
! N\ c
The parents : are proud.
NP & past + Be + ing + Be + Pr
Richard % being & g‘eutleman.

NP + pres+ M + have + ¢n - + Vink+ Zr
NA | T T

The rooms mut have smelled musty.
NP + pres + M + Vb + the water

N~

!
The wiitress will get the water,
NP + pagst + M + be + ing + Vink + Pr

The san’tencea M b‘e M dif'ﬁcul,t.

NP + past ¢ + + Vb + a
Henry was having a perty.
NP +pagt\*huve+en*ba*ing*%

i N\~

The motor had béen vibrating,
DIP + past + M + have + en + Be ¥ thoavieto'rs
The Saracens would  have b ths victors.




5. P+ pres + have + en + be + ing + Vink+ Pr h
Steve 8 been feasling groggy.

8. NP + past + Vigk ¢+ Pr

The }ion “M ge‘nﬂe.

T. I?P + past + be + o‘ﬁgk
The princess radaant,

8. NP + pres + have + en + be + ing + Vink+ Pr
Fromont - 8 been growing i,.mpaltient.
9. NP +tpastt M+ Vb + wheat
This soil E;;t}tﬁg/. gre‘)w wh’at.
10, NP  + past + be + ing + Vb

S;omgeone \w{ loo\ﬁ;
11, NP + pres + be + ing + Vink + Pr
The static getting w’orse.
12, NP + pres+ M + Vb + apension
Grardfather gét a p&l!lﬁiﬁn.

i3. NP *pa.g!;*} '!'have'l'ﬁc *Vlnk“"ﬁ?r

The rjlm would

14, NP + pres + Be + Pr
Some'ha ‘ be&':oming

15, NP *pm*M*h&ve*‘en*'be*\ + Vink+ Pr
Jud-'m \/ haeve \/ h\c{&;w ed.,

RULE (9): THE MID VERB

A more rigorous formulation of this subset of verbs woaﬂd have

to take into account that some mid verhs { 'ressmble, ' for ingtance)
can be modified by some mamadverbms inaentemea like “Ha
resembied his mothar closely."”




‘The wora mid (*middle) has no particular significance except to
indicate that the type is neither fish nor fowl, In Greek gramamar
ilie word is used fo describe (among other things) a reflexive and
irreverasible verb raood,

Note the important step in the second part of this rule, the ¥ (Man)
part, This of course symbolizes what is ieft of English verbs after
‘Vrdd is subtracted. Interpreted strictly the mile staies that Be,

A and Vmid (the parts we have categorized so fari cannoct be
modified by a manner adverbial and that ali othex verbs may be so
modified. We have seen however that "resemble, " at least, among
the mid verbs can occur witk a manner adverbial, For example,
we might say ""He became my friend gradually, ", but we weuld
never say * The cake tasted good slowly." (except in an ircnic
way--wanere the irony of course results from the bresking cf this
suvtie grammatical restraint.) Some of your beiter students may
want (if they notice the discrepancies of this kind) to try to find a
principle behind the presence or absence of manner adverbs with
Vink. This matter will be taken up formalily at a later date, You
may need to remind students constantly that this grammar for the
first year is a relatively simple one and that the refinements of

the larguage will be taken up in later years.

Page 55

Many students will find the passive construction difficult at first.
Because they rust understand this basic test for mid verb (and
later the resulting transformation) you may need t. help them: dis-
cover the three changes that automatically result when they attempt
to change sentences from the active to passive: NP2 moves to the
irdtial position in the sentence, the aw~ liary be is added to the verb,
and by combines with the original NP at the end of the sentence,
Point out also that they should nct change the tenge of the verb when
they transform the active into the passive,

2. The furniture was ordered by Prudence.
3. The house is8 owned by Leland,

4. The laws are made by the goverament,
8, The grain was stacked by the workmen.

6. Much confusion was caused by a few birds,

Exercise 1: Page 58

The sertences in A provide 21 opportunity for the studert to trans-
form active verba into passive forms, While all students could
reasonably be erpected Lo do A with little difficnity, scme seniences
in B are exiremely complizated, involving the pasgsive of the pro-
gressive in the future and pexfect tenses, and may pose w2al problems
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for most gzroups. (Sentences 4, 5, 6, 7, and 8 fall in this class.
Capabie students might {ind them challenging, however, once

they notice the interesting patterns that are set up by a strict
adherence to the auxiliary pattern of the active verb,) ¥ou will
probably need tc remind them that the passive is a transfurmation,
not a kecnel semence, but this exercise should help them under-
stand the validity of suci: reasoning.

Excreise 1: Fage 86

A, 1. Npl + Vb + NP2 NP
The segeretary typled thelletter. The: letter
Vb ¥ nel
wae'typed by the ,eecretary.
2, WNP* + vy + Np? NP2+ W
Sanimy playged the ,guitar. The ’guitar was {played
+ npl
by Sam'my.
3, NPt + Wb + NP2 NP2 ¢+ W
Twelve' men guaz!d the ’palace. The 'palace is glusz.mled
+ wnpt
by twelve men.
4, NPl  + v + NP NP + Vb
The cust!)dians emp!tied the lpoole The\ POOL was’ emptiedi
+ Np!
by the !:ustodians.
5. NPl o+ v 4 NP2 NP2

Ric.;k carzlies Marsha's bc!okeo Margha's bc!oks
+ Vb + NPl |
are éarried by B!ck,
6. NP} + vb+ Np? . Np2 + v
Snow  blecked tho entrance. . The entrance was blocked
PR ?I’GPI‘

by an!cm.

YR
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7. vt + v + NP NP2 ¥
The waterfall drowned out our voices, Qur voices
Vb + NI"1
were! drowned out by the watexrfall,
8. el o+ W + np? NP2 *
Some ,people will b,elieve yi)u. Yo'u
" il
wiil be believed by somé people.
s. NPl + vp + NP . NP2+
The !girl . foréot the 1&%&»@. The n:z;‘j"book
VW o+ NP
was forgotten by the ,girl.
19, NE} + Vb o+ P2
The wrecking'crew  demolished the building.
NP2+ W + Net
The bu!lding was éemolished by the wm crew.
11, N'P" + Vb + Np?
The coum'erfeaiters must Rave printed these\bﬁl .
Np? 4+ Vb + NPl
These Ams must hav/e been printed by the cm‘znterfeitem.
12, npt + Vo ¢+ Np2
Ninth graders shou}d set an example.
w2+ v+ NP
fn gx‘ample should !!e\set by ninth ’graders.
. w!' + w + wp®  np?

The 'gypsige were !temng fortuLxes. Fortuneg

.
“

+ b +  Npl .

were told‘ by the gypsies.
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75
ve! ¢+ v o+ wp? NP2
The witness raisfed a ques!ion A q!nestion
+ v + NP
was raised by the witness.
np! 4 Vb +  Np? NP2
Father could hav;e used the pa!ddle. The !paddle
s vb + '

NPl
could halre beenused by ifatLer.

Np! + vb o+ NP Np2
Am’xt'Ma?y was 'watching the ‘tLlevision. The\ television
+ Vb + np!
was beiné watched by AunJ Mary.

N+ Vb +  np? Np?
A n!ap should éhow the boundaries, Thé boundaries
+ Vb + Npl
should be/ shown by the map.

npl Vb + Np2 NP2
The' fire might b«! Viliing the anithals.  The Lﬂ.mals
+ Vb + Npl
mighs be/being killed by the fire.

NPl o+ Vb + NP2 NP2
EroLion must b!s destroying the' land, The ,land
* Vb ¢+  npt
must ke bef{'ng destroyed by erosion,

ot o+ ow + NP2 NP2

Penc!le

|
Theboys bad beJn swapping pen‘cﬂs.
+ Vb -4 Np!
had been ‘being swapped by the' boys,




9. el o+ wvp o+ np? NP2
Elephants could ha'gfe pulled the z‘vagons. The wagons
* Vb + npl
could have ";oeen pulled by the !el,ephmts.

10. xgpl + v + . NP? Np?
Somieone should have forwarded the letier. Theg letter
+ Vb o+ .. npt
should have‘ been forwarded by someone.

1, mp* o+ v+ Np? Np2
Some dectors pres}:ribe aspirin, Asp!rir.
+ Vb npl

is prescribed by some doctors,

12, NPl + Vb + NP2 NP2

/ l

-
The Flea Market may scll antiques. Antiques
+ 71, + np!
may be seld by the Fle'a Market,

Pages .56-57

The assutptioz that most students will automatically classify all
sentences containing mid verbs uged in the passive as not grammati-
cal is not completely realistic. .dasters as they are of the passive
coustruction resulting from their use of "got, " manv of your students
mey be unfamiliar with any use of the pessive form _1 with "be. '
After studente work through the two remaining subclasses of verbs
{transitive and intransitive) in Rule 10, they should find Vmid easier

to identify. £ssure them that they will underctand it befter later on.
*2. Ten dollars iz cost by the coat. |

*3. Seventy pounds is weighed by the bell.
¥4, Hig father is resembled by Bob,

*5. A cover is lacked by this book.

*6. Courage is taken by that act.
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*%. Fair weather is meant by a red sunset,

*f, Waste is made by haste,

Exercise 2: Page 57
1, ecluded (V) has an NP2, and can go through the passive trans-

formation,
2, has.(y_x_‘x_u_;g_) has a NP2 but does not go through passive.
3. composed (V) goes into a passive transformation,
4, lacked (Vmid)
5. needed (V)
6. weighs (Vmid) Considered together, Sentences 6 and 7
7. Weiéﬂéd (V) show that 'sorre verbs which look alike
8, mixed (V) are really two different verbs,
9, resembles (Vinid)

10, means (Vmid)

11, befell (V.nid)

12, answered (V)

13. dominated (V)

14, must have been caught (V)
15, damaged (V)

Exercise 3: Pages52-59

The sentences in A review the ithree verb classes and let the student
test his gdkill in recognizing Be, Vink, and Vmid. In B the student
faces sentences which contain V + NP2, the subclass that i.e will
eventually identify as transitive verbs in Rule 10,

A, 1. NP + pres * have + en + Be + Pr

\ ~. \/

A dog has been our mascot.

2. N 4+ past + be + ing + Vink + Pr

The speaker was becoming hoarse.

3. NP + pres + M + have ¥ en + Be + Pr

\/ n N\

A beoat have beén the home.
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14,

15,
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NP ¢ pagt+ Vik+ Pr

{
The water ta\s@/ metaliic,
NP <+ past* M + have + en + + Pr
‘ \/ ! \‘. . -
Vivian woulid have et erribte.

NPl + past + M + Vmig + NP2
The 'zstory shuld haire suspense.

NP! + pres ;/ve + en + Vm.ui + NP2
The‘contest an ilo .

NP'!'pres*M'l’ Vink + Pr

Ivan W beclme a Lcientist.
NP+ pres + Vmjd + sz
Fo' m/ danger.

Np!l + past + ¥Vmid + NP2
The !wllam resembled a weasel.,

‘N haye + en+ be + ing*/mjd‘i'NPz
The basketbalil team h/ b«=en lakmg spi!rit.

12, -

NP. + pres+ M + Vink + Pr

My dog r\r}aﬁr/ beciome o

‘NP + pres + have + en + Be + Pr

Sa%.ly \haa/! ;\e‘{ a girl' scout.
npt 4 preg + M + Vn?id * m',z

This %:rzdge | will cost two million dollars,
NP  + pres+ Vipk + Pr

Youriiciea }uﬁ g@id;

NPl + pres + Vmid + NP2

The Boy Scouts - lack a leadex,
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2. NF “ preg + Be + Pr

0 N

Mrs, J2son 13 the housekeeper.
3, npl *opres ¥ betingt ¥ ¥ N}DZ
Some‘ people . }f-e taizing a vati:ati'on.
4, NiPl + presyﬁ*be*ing'ﬁ"v’ *_E{PZ
The p:;rad.e wiit b'e pésing the corner.
8, NP “ rpast + + Mannse
The a{ctors performed sk:‘l{mlly.
8. N;P1 . ¥ pres ¥ + have + en + V + NP2 ‘
The éeacher \r{aﬁVy hagve s:r\aké;led the‘ answers,
7 wpl + past + Vink + Pr
Lake Louise seémed peac’eful.
8. NPl + pres + Vmid + NP2
The principal means business.

Exercise 4: PagesiQ460

The strings in A cortain the root verb to be uszd in constructing
the sentences. Students would probably profit from classifying
these verbs as they consider the sentences written by the class.
Regardiless of the varying choices of NPand Pr that students will
make, the verb should be

A, 1, am, axre, or is
2. sghall, can, may, or must be

. had been collecting

3

4, shall, can, may or must cost
5. had been

6

. tasted
7. feels or feel

8. felt

9. am, is, or are going




10, has or have had

B. To do B students must gelect a suitable verb from the sub-~
rlass requested in the string before attaching the elements to pro-
auce the desired VP, A comperison of the sentences compssed by
different students for the game string should be stimulating as well
as irformative, :

RULE (1¢): TRANSITIVE AND INTRANSITIVE VEREBS
Vir + NP
(10)v—>
Vin . :

Neither V¢w nor V;, will be further subclassified at this level,

But in subTequent—tRite these large subsets of verbs will be broken

il:gn into further subsets on the basis of formal gramimatical regu-
ties. '

Zxercise 1: Page 51

These sentences provide an important review of the ithree subciasses
of verbs already considered, but nine of them offer @n cpporiunity
to introduce trensitive and intransitive verbs inductively.

- Verb Kind
1, was - Be
2. closed \ 1]
3. must have been, Be
4. bowed v
6. looks Vink
6. became Vink
7. absorbed \'/
8. hag Vmid
9. have waxed | v
10, will aftract v
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Verb Kind ”

11, resembles Vmid

12, laid Vv

i3, is preparing v

14, tomsed A"

15. will be waiting v

Bxercice 2: Page 81

(2) itug?:tsi sentences will vary bat all should contain Vir + NP2
nﬁ

(L) In assigning this exercise you might want to remind students
that here they are simply testing to eliminate any Vmid they
may have used in {(a).

Eizercigse 3: Pages 3182
{a) 1. destroys - Vixr
2, read - Vir
3. scolded ~ Vir
. became - Vink

3. has been shaking

N>

6. cost ~ Vmid
7. fell
8. must have been collecting -~ Vir
9. are - Be

10. could see - Vir

il. went

12, had lost ~ Vip

(b) 1, Msen are destroyed by war.
2, The message wag read by Tom,
3. He wasg scolded by his father, (Students wili probably be
‘nteregted in the automatic change of form which results

when "him" ghifts to the NP! peaition in the passive.)

L

I

— s —_ - —
3 - 3 -
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8. Fossils must have been being collected by Ronald. (Be-
cause of the complexity of the auxil; iary construction in the <
original sentence, the passive form may seem awkward
to some studlents. But ail of them would probably be ready
to accept "Fossile must have heen collected by Ronald, "

10. Many colors could be seen by us.
i2. Umbrellas had becn lost by several spectators.

{c) The verbs in Sentences 5, 7, and 11 fit no category discussed
thus far because, unlike other verb gubclasses, they do wot
take either Pr or NP2, You might find this a good time to
ask students if they can sec now why we initially break 2 ker-
nel sentence into just two parts, NP + VB, The more per-
ceptive students will realize ihat the words following the verb
help determine the classification of the verb.

Page 62

Two changes wiil make the branching diagram example more accurate.
Tense should be Tns and Prea should be added from Rule 5.

P

Aux

X

the

PrLB

(@) 2, Sentence

NP~ i (i
AuL 1 (3)
: Tns (4)




A Verb

Vrb |
\ vmﬁ/ ™
] + Pr (3)

The ;udieme + opast + bewée 4 eiuiit

The aiiudlen,s’e M

8. Ssntence

bugg \Auxg
'rn/% M

have + en bé*ing
] A

1

Ronals + pxtes * M ¥ hape *

en + Bo ¥
ROATJ@ | ké néve bé‘eg coliéfe&/iég tos!ﬂa.

s i e . =
TR = - - T =, - 7 S S . A1 rbrtt, ST . B it Al S 4 Wl e 2
. - v - 3 / X -

A/ T~ V?r‘a (2)

ve/ * (10}

(1)
(2)
(3)
{€)
(8)
{7

{1)

(3)
@
(s)
(@)
Vb )
via (8)
{67

|
i

"' collac?."' t’osaﬂz

% e — - . —————



2.
NFE
|
Tha twins
The twins
Dege .82

2. it doesn®; take a Pr,
3. it dousn't take an NP2,
4. # dossn't take en NP,

yage 83
Important Cozrection -

The last Jine of the branching diagrem at the bottom of the page
should be changed {c read

.

Vin  Vie + NP

Exexcigs 4; Fage £4

While the answers will vary, etudents' gentences zhould contain
these forms: (in mo, §, neither siring aas an intransitive verb),

1. blow or blows {Vin)
blew (Vir)

2. few (Ver)
flew {¥ia)

3. may, can, shzll, will, or must ring (Vir)
may, can, shall, will, or must ring (Vin)
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4. am, is, or a-e sailing (Vin)
wag or were satling (Vir}
5. had weighed (Vir)
hag or have weighad (Vir) or (Vieuis) )
6. hears or hear €Vin)

hears or hear (Vir)

B. Aunswere will vary but might be aimilar to the following:
i. The man drives cavefully, (Vin)
The m<n drives the car carefully. (Vtz)
2. The hoop rolled down the road. (Vin)
The man rolled & cigarette, (Vir)
3. lwillplan carefully, (Vin) |
They will plan the party. {Vtr)
4. The girl writes legibly, (Vin)
She wrote a letter. (Vir)
5. Tom throws well, (Vin)
Tom was throwing the ball, (Vir)
6. Jenny sings beautifully. (Vinj
The chiorus sang & medley, (Vir)
7. We looked at the muterial. (Vin)
John locked sick, (VInk)
8. The Russians danced daringly. (Vin)
They danced the twist. (Vtr)

Exercise for Raview: Pags .35

A. While students® answers will necessarily vary, they should
contain these verb forms:

1. 208t or coste

_ERIC.

RE A Fulrext provided by ERIC o, 3 N R . 2,
o e et T 7 NP v::}f 5 e etk e
PP T TR v v




2., talked
3. can, may, shall, will, or must remain
4, could, should, or would run
8. had made
8. is, ars, or am smelling
7. smell or smells
8. could, should, mighi, or would have heard
9, zan, may, shan, #ill or 'muet ;:ave been hearing

10. have or has been

B. As this exercise terminates theé division of verds inte five

subclasses, thess sirings furnish students with a comprehen~
sive review of the VP part of kernel gentences, Becausethe

' sentences constructed by your students will vary considerably,
you might use this opportunity to reenforce the notion presented
eariier that an infinite number of sertences can result from one

. string of -3ymboia,
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RULE (11): THE PREDICATE
Adj
(11) Pr—) lgg
c

\

-

At some later time the rules will have to be refined to indicate that the
NO of the predicate NP is dependeni on the subject NP, As the rules
are here formulated it would be quite possible to come up with

clearly ungrammatical sentences. For exampie:

*The boys became friend,
*The boy became friends,

The formal way of stating the grammatical dependencies here is too
subtle for presentation at this level, However, the expesition of
Rule (7) in the Teacherts Manual presents the problem ia an informal
ways

In another way this rule is not so closely formulated as it will even=
tually have to be: for only ''stay’ and "remain" (among the Vink)
and Be are free to combine with all three types of Pr, cher Vink are
limited to occurrence with £dj and NP (for example, '“become™), and
Adj (such as '‘taste'), etc, You may need to remind your students
of the restriction which we placed on the adverb of locaticn used as

Pr (see t . exposition of Rule (8) in the Teacher's Manusl,)

Exercise 1: Page 67
Sentences 2, 8, 9, and 10 are complete because each contains a Pr,

i
2. Democrat
8. %true
9. 13”&31‘ *
10, at home
-

Exercige 2: Page 68

class to explain the limitations placed upon some Vlnk Vink you might let
students experiment by trying to substitute other types of Pr. Thus
they could prove that, while Be combines fraeely with all types of Pr,
lirking verbs do not,

Exercige 2: Page 69

2, confident - Adj




ﬁiiiiet - Adjo

a scoundrel - NP

&t anchor ~ Loc

late - Adj.

» Henry Cabot Lodge < NP
. in San Francisco « Loc
10. an inventor - N?

Exercise 3: Page 70-7

Since the example of the branching diagram on page 36 is somewhat
telescoped, some students may find it confusing, If such a conden-
sation presents problems for any student you may wish to have him
follows the earlier procedure of placing each step or rule develop-
ment on a different line, The diagrams that follow adhere to the
more elementary method. Because the emphasis in this exercise
is on Rule (11), the sentences have 2 simple verb scusdtyuction. -

cam-.:‘aacn.hw

1. Sentence

NP \VP (1)

Awr’—/'/‘\é'rb (2)
At!ux {3)
. |
Tst (4)
Past . {3)
Vb ¢7)
Wn(/\}r (8)
! =Y. & £11%
| , OiluJ A\ X 74
‘The suitcase +  past + look + hehvy
The suitcase \\1‘6 fed heavy,




Sentence
NF VP (1)
AMerb (2)
At!xl (3) ~
T (4) ‘
Pa’st (5) |
Vrb (7)
vilg br )
\ | _ | A!lj (11)
‘The boys + past + feel + confgdexﬁ ‘ |
The\ boys \e t confildent. _ |
|
Sentence
N VP | (1)
| A \'Ve‘rb (2)
| Atixl (3)
i s (@
Pdst {3)

9
i>
ey
Shy,
)
AP
et iefnutetie Smanitnn

The -au\dience 4 past + remain + 7~Jiet

\ R
The audience remuined quiet.
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4, ) Sentence
- “\ -
NP vp (1)
| b Vers (2)
\
Aux / \ (3!
1
1S %)
Pagt 3/ \ (5)
\ /

Be - E,’r (7)

‘ NP (11)

\ N
Bened‘iet Arnold + pa{ + be + & scoundrel
Bet‘nedict Arnold :%v\ a scoundrel.
5. Sentence
NP D (1)
*4_\
Aux— Verb {2)
adx; (3)
Trs )
PaLt (5)
i

Vrd £7)
V‘Inﬁ//\.?r (8

\ l Mic (11)
Th[e ship At pant + remaisn ¥ a/t Lxmhor

Thé ship remained at anchor.
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6, Sentence

The mutterings + past + have + en *

Tbmutterings hv'd M indistinct,

7. Sentence
Np—" ~vp (1)
| Aux’///\ﬁrb (2)
Ny
Tx!s {(4)
Past (5)
Be Pr {7)
/ A;dj (11)
The deliveries + past + be + la&e

: /
’Tm‘eliveries \5&/ late.
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8. a . ' ' Se.z_mﬁ_ence

NP~ TT—vp (1)
\ Au/ \}er'b (2)

Auﬁq ’ - (3)
.. Tnls - : L (4)
prrls | . (5) |

Our ambassador + pres + e

Ou\\ambassador \Es

|
1
e TP ——

ey
e ot ]

iy

“Pr (7

‘ , )P (11)
+ Henry/Cabot Ldége

Henry Cabot Lodge..

[You may trept "Our'" here as a determiner, or change it to "the. '

Strictly speaking it is, of course, a possessive pronoun thch we w...l

deal vmh laterj

9. ' " Sentence

w

NP T '\.\'\VP‘ ' (1)

A;n!/
Hux,

The

l
Jensen + rypast

\

Veérb (2)

L”oc (11}

stay <+ in San Francisco

\ /
Jensen \ 3// F'rancisco.

~
o
l. »
{ W 3 O
~ - «? ~
wmwmmm—‘
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NP~ VP ._ (1)
Aux \V*?rb (2)
,,,,, | .
Ayt {3)
The (4)
i ‘ .
Past 5)
Vrb {7)
v1“(/\7? (8)
! NP - (1)
Thomes Edigon + past + become + an inventor
Y - /
Thcm\a} BEdison becEme an inventor.

Exercise 4; Page 71

Because either A or B offers a comprehensive review of the kinds

of VP structures that produce kernel sentences, you will probably '
not want to assign both parts of this exercigse. The strings in B

reséxlt in more involved constructions to challenge above average
students,

RULE (13): THEZ MANNER ADVERB
(12) Men — Adj + ly

This rule may seem deceptively easy to your students, It is certainly

too simple to say that mmanner adverbials are only and always equal ¢

Adj + ly even if we allow for 1y = @, and for the rule not being neces~
sarily reversible (ihat is, not 8ii Adj + Iy * Man.) We will see later
that & pumber of prepositional phrage types (for example, "by means of

*+ NP") are Man and thet large classes of Adj are preverted from combin-
ing with ly (for example, "*orar:iglely, bigly, © ete.). And of course, in
doing ét‘l;xe gxem.isea, students will tind that not all words ending inly

are adverbs, -

Ezeércise 1: Pageg T2~%3

Students will discover that three of these adjoctives (those in §, 12, and
14) do not have to add ly in order to fit the frame sentences.




Exercise 2: Page 93

You might want to point
out tnat in the question transformation tense shifte from the original
verb to do which is inserted to help ask the question. Thus in Sertence

7 we say
Prea + yun Pres i;lo

\
The streamliner fins fast = Dogs the streamliner run fast?

Did Zits the past tense form of the verbs in the other sentenczs. With
the verb did already in Sentence 9, the resulting transform becomes
especially it interesting.
A, 1, deliberately. How did Jack break the window ?

2. swiftly, How did the deer leap?

3. calmly. How did Ferwick light the bomb?

4. beautifully. How did the soprano sing?

9. harshly. How did the officer speak?

#3. correctly. How did I do the problems?

# 7. fast. How does the streamliner run?
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3. neatly. How did Jane copy her paper?
9. well. How did Henvy do the job?
10. happily. How did the children play?

Exercise 3: Page 14

¥You may want to warn your students that not 21 ly words are manner ad-
verbs. (Only "+ Sentence 1 night be a gocd ene to talk about. )

_manner adverb adi. _+ 1y
1. properly proper + ly
2. smartly smart + ly
3. fast fast + ¢
4. easily easy + 1y

. hard hard + @

5
8. Because Jovely ie a Pr (Adj. ) used with the Be verb, it cannot be a
manner adverb.

— _ ~_\ R : e R
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7. éteadily steady + ly

8. boldly bold + 1y

9. ‘This sentence does not contain a manner adverb.

10, zight right + ¢

11, well well + §

12, swviftly swift + ly -
é 13. willingly willing + ly
; 1<, loosely loogze + ly

15, cheerfully cheerful + ly

Exercige 4: Page 75

' WARNING
¥ Students ghould uot atterapt to d Sentencea 1 and 14 because they
" are not terneis “'Please subst‘ ences 2 a -

’I’heae diagrams have twn purposes. They give students practice in add-
ing Rule (12) to the branching diagram and remind them that a manner ad-
verb tends te accur with a transitive or intransitive verb.

2, Sentence
NPT (1)
» Aux" T \erb (2)
(3 Ads, vk ()
TLB Jb (8)

@ (5) ¥ Lt V/\Ean (9,
[ v §r2 o Yy a2
Kénry + past + W /p + the hors.s + smart + {

' }ém‘y viiipped thel horses smartly.
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4, Sentence

Nf — T~yp (1)
1

AwE" #\erb (2)

|
(3) Ai‘xxi Vrh (7)
R i
{4} Tms Vb (3)
& /M\
(55 Pree v Than (9
(10) Via %ay/?y (12)
l : g
Paper + pres + wripkle + ecagy t.ly
Paper veiides | eesily.
8. ' Sentence
e T .
NP~ VP (i
Aux— ert  (2)
(3) AJx {7) Be ¢ * inthe snow
¥ l 1
(4) Tias / ) |
{il) Adj
{5) P | /
The trees + at +  lovely + inthe saow
\c \w/ 2y th/
The trees lovely in the snow.
11, Sent2nce
\ .A' rb (2)
Atlnx 1 (3) b (7)
“Tos (4) Vb (8)
Pres {5) v‘ré')"" T “Wmn




15, Sem:eg_ce
PR e -

NP | L (1)
A\W/\W'é'rb (2)
(3) AI'.IXI V‘Z‘b (7)

(4) Tns ‘}b (C)

'45) Pa!st (9) V """/\‘i‘m + .40 my dad

(19} Vin Am (12)/

é

Grand{ather + past +  sgpea + cheerful + ly™ tomy

/ dad,
Gr\a}dfa‘ther Y ch\e\erfully to ml:' dad,

.
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VEAT EAVE WE LEARNED

(Review)

Since you will probably move into a rhetoric or literature unit after
completing Rule (12), you wmay find ‘aat your swudents will need a re-
view when they resume work on Rule (13), Therefore, you nught
prefer o uss this review unit then rather than at the end of Rule {12).
Or you might well divide this review, using possibly A, B, and C now,
saving D and E to serve as a refresher when you start Rule (13).

Any of the exercises in the Review Unit for Bighth and Ninth Grades
which you did not use earlier would be suitable for supplementary
review also.

Fage 7S
2. Rule (2) says thet ever verb has an auxiliary which gives it form.

3. Rule (3) shows that while a verb may have two kinds of suxiliaries,
it automatically has Auxj. The optional element, Auxs, is not
present in the diagram because it is not present in the sentence.
In the rule, Auxs is placed in parentheses to indicate that it is
optional.

<. Rule (4) says that Aux, is always tense. This is an obligatory pa:t
of every verb. Amnother optional part of a verb, modal, which is
a part of Rule (4), is not present in the sentence; therefore (M) is
not placed in the diagra:.

5. Rule (4) indicates that every verb has Tns. Fule (5} tells us then
that the tense which évwery semtencelns. must be either Past or Present
but never both. (The braces specify this choice.)

3. Because the sentence does not contain cither part of Auxs, Rule (3)
does not apply.

7. Eatis not a Be verb. We use the shortened form of verb, Vrb, as
the symboi to include all the verbs remaining after Be has beer.
placed in a special subcless. Again, braces indicate that every
kernbil sentence containg either a Be verv or another verb, but
not both.

8. Eat is nit a linking verb because it dves not bave a Pr. Wita snother
subclass of verbs established, we know now that every kernel has
a Be verb, Vink, eor auotaer kind of verb. Vb indicates that the
group of verbs to be reconsidered in Rule (J¥ is smaller because
in Rule (8) we have removed linking verc and placed them in a
special subclass.

3. To test for a mid verb We tiy to restate the sentence in the passive.
Because the senience, ''The grapes were eaten by the fox.", is
grammatical we conclude that ate is not used as a mid verb in this
sentence, And the sentence will accept a manner adverb which -
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reenforces our notion that tkis verb should not be placed in the
mid verb class.

While the group of verbs remaining to be clagsified has Lecome
somewhat smaller in each stage of our diagram, we still have a very
large class of verbs left.

10. Rule (10) then disposes of all remaining verbs, V, by saying that
any verb which is not B¢, Vink, or Vmid is either transitive (Vir)
or %ntransitive (Vin). Secause eat is followed by a direct object,
NP4, we mark it Vir. -

ii. and 12. Rules (i1) and (12) do not apply because the gentence has
no Pr or manner adveri; (Man).

Exercise for Review: Fage 78
A, 1, NP + presthave + en + be+ ing+ Vtr + NP2

| P e wed

A jar has been cat the gasoline.
2. NP * pres * have + Vink + Pr (or JP)
The conversation has be!come an argument.
3. NP * pres * M + Vie + Man {or Adj + 1y)
The nLembers : \1\nay ta.l'k qu!etly.
4. NP + past + M + Vmpia + NP2
This' candy should c<‘>st & nii:kel.
5. N'P o pas<+ B/e +  Pr{or Adj)
The topping wa.{ gc.x)ey.

D. 1, NP + past* have *+ en + Vir + NP2
Socrates nad drink the hemlock.

2. Ni‘? * pasC};I + T + m{i»; id + Np?
The swimmer aght - e having trouble.
3. NP + pres + Be + Pr (or NP)
His violin \1'3/ a Stradivarius.
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5.
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NP + opres * havet ent beting + Vin + Man (or Adj"l' 1y)

N,/ v
Rc!n \hﬁs/ been \waking patientiy.

NP + pres + M + have + en ¥ + Pr (Adj)

\

\, AN
The applause must have sounded good.




